TIANJIN TANGFA WATTS VALVE CO., LTD.

A
@
Q

Contact Person: Mr. jack wang (General Manager)
+8622 6622 4148 & +8622 2529 1233
Https://www.tfwvalve.com

tfwatts.jack@tfwvalve.com

RM8401-3, TIANHE TECHNICAL ZONE,BINHAI NEW

AREA, TIANJIN CITY,CHINA

TANGFA

WATTS VALVE

(AT RNE Y L]
——

TIANJIN TANGFA WATTS VALVE CO., LTD.
www.tfwvalve.com

VERITAE



WE OFFER TECHNICAL
EXPERTISE
AND A WILLINGNESS
TO WORK WITH THE CUSTOMER

L

{ =
AV N
— L I"-V'n u —
!
1 ll'l_--!l
. EEEEE ... :

..'---- LLLEL L

aZ>

TANGFA

WATTS VALVE

TIANJIN TANGFA WATTS VALVE CO., LTD.




2002 8000

WAS ESTABLISHED IN PRODUCTION CAPACITY IS OVER

14140 12000

REGISTERED CAPITAL COVERING AN AREA OF

INTRODUCTION

Tianjin Tangfa Watts Valve Co., Ltd (TFW VALVE) was founded in 2002, is a professional valve manufacturer
and supplier in China, with a registered capital of 10.8 million RMB. Formerly known as Tianjin Tangfa Watts
Valve Sales Co., Ltd, TFW Valve is mainly engaged in the research, development, production and sales of
medium- and low-pressure soft sealing valves. The main products include: Concentric Butterfly Valves,
Flanged Butterfly Valves, Metal Seated Butterfly Valves, Soft Seal Gate Valves, Hard Seal Gate Valves, Gost
Gate Valves, Double Plate Check Valves, Swing Check Valves, Y Strainers and other products. The annual
production capacity is more than 8000 tonnes.

TFW valve are mainly oriented to the international market, with sales in the international market accounting for more than 90%.
Production models include the production and sale of private brand TFW, IMGV. And the production of OEM orders. The sales
market mainly includes the United States, Canada, Southeast Asia, the Middle East, India and Pakistan, the United Kingdom,
France, Italy, Russia and so on.

After years of development and improvement, the factory has a modern assembly workshop covering an area of 12,000 square
meters and an automated spraying production line and machining workshop. Meet the diverse needs of customers.

In order to develop overseas markets and achieve deliversification strategy, In 2015, TFW VALVE mergerof a whooly-owned
Zhejiang Zhonghe Valve Technology Co.,Ltd(ZHE), which located in Wenzhou-"Pump Valve Township of China", It has 20 year
of experience in the production of high performance

As one of Chinese famous valve supplier, TFW's products areexported to over 50 countries and regions and enjoy a good
reputation in the market. TFW valve bong"profeesional technical support, perfect after-sales service" business philosophy, In
order to create a unique corporate culture and enhance their market competitiveness and enterprise development stamina,the
whole idea of carefully molded,the interpretation of a distinct . "TFW" works,implementation of quality strategy,creative brand-
effective,more realistic spirit,bettter productions,better service dedicated to the user.

Welcome to Tangfa Watts Valve Service Center,we will be happy to service you!



CONTENTS

03
05
06
07
08
09
10

11

12

13

14

Gate Valve

25
27
28
29
30
31
32

0 1 /TIANJIN TANGFA WATTS VALVE CO., LTD.

Products

Wafer Butterfly Valve (Two Holes)

Wafer Butterfly Valve

Wafer Butterfly Valve (As2129)

U-Type Butterfly Valve

Wafer Butterfly Valve (Half Shaft Without Pin)
Wafer Butterfly Valve (Throught Shaft Without
Pin)

Wafer Butterfly Valve

(Four Holes With Tongue-And-Groove Seat)
Wafer Butterfly Valve

(with tongue And Groove Seat Without Pin)
PTFE Coated Butterfly Valve(Wafer Type)

Flange Butterfly Valve

Gate Valve

Non-Rising Stem Resilient Seated Gate Valve
Non-Rising Stem Solid Wedge Gate Valve
Rising Stem Resilient Seated Gate Valve
Rising Stem Solid Wedge Gate Valve

Parallel Double Discs Gate Valve 30ch6br

Knife gate valve

®
r@ TIANJIN TANGFA WATTS VALVE CO., LTD. WATTS VALVE

21
22

23

24

TANGFA

Lug Butterfly Valve(Through Shaft With Pin)
Lug Butterfly Valve (Through Shaft Without Pin)
Lug Butterfly Valve (Half Shaft Without Pin)
Lug Butterfly Valve (PTFE Through Shaft
Without Pin)

Grooved End Butterfly Valve

Resilient Seated Eccentric Flanged
Butterfly Valve

Metal Seated Eccentric Butterfly Valve
(Wafer Type)

PVC Butterfly valve

Y-Strainer

Check Valve

Dual Plate Wafer Check Valve
Swing Check Valve

Ball Type Check Valve

Tilting Check Valve

Seated Gate Valve With

Single Sphere Connector With Flange
Double Ball Connector With Flange
Pressure Reducing Valve

Dismantling Jiont

Universal Coupling(wide range)
Universal Flange Adaptor(wide range)
Quick Flange Adaptor For PE/PVC Pipe

41 Ball Valve

Foot Valve

42 Foot Valve

TANGFA

®
r@ TIANJIN TANGFA WATTS VALVE CO., LTD. WATTS VALVE

1ISO9001 Certification
1ISO9001 Certification
1ISO9001 Certification
ACS Certification

ACS And BV Certification
ISO 45001-1S024001

TIANJIN TANGFA WATTS VALVE CO., LTD./02



®
m TIANJIN TANGFA WATTS VALVE CO., LTD. WATTS-‘I,-IQ‘,I:I

CONCENTRIC BUTTERFLY VALVE

Water works and water

resource project
Environment protection
S Configurable drives
Power and public utilities
Building industry
Petroleum, chemical
Steel, metallurgy

Paper making industry

i

Foods, Beverage

N

GFA ‘

i

i

e
o
—J

=
=

;f
JZ“F\ |

2t

Pneumatic actuators Electric Actuator

Butterfly valve as used as shutting-off or throtting unit for petroleum

processing, chemicals, food, medicine, textile, paper making, hydroelecuicity

engineering as well as light industry, etc. it can be installed in any selected

position.

03/TIANJIN TANGFA WATTS VALVE CO., LTD.

®
m TIANJIN TANGFA WATTS VALVE CO., LTD. wmsmv':'GFA

Through precise manufacturing, the main parts of this butterfly valve ensure valve’s operation in long stable and reliable condi

Dust-protect seal

Bushing ------------- o
Reduce driving torque,
support stem, and effectively
separate it with valve body,
reduce wear of stem.

--------------- Integral stem
design

Ensures dependable and
positive disc control

High precision disc -~
ecternal profiles
Reach the requirement of
bubble-tight, small start and

stop torque, longer usage life
of seat.

D EREURMNUIMRRRRER, Backed seat

Non-collapsible, stretch-
resistant and leakage proof.
Easily filed replaceable.

TIANJIN TANGFA WATTS VALVE CO., LTD./04



TANGFA

WATTS VALVE

TANGFA
WATTS VALVE ‘

TIANJIN TANGFA WATTS VALVE CO., LTD. TIANJIN TANGFA WATTS VALVE CO., LTD.

. Wafer Butterfly Valve

. Wafer Butterfly Valve (Two Holes)

- |

|
[

=22

n-@d1

O
* Type:
Wafer 204

higsy
e |,

Wafer
* Face to Face: < * Face to Face: ﬁ -
API1609,BS5155,DIN3202,1S05752 API1609,BS5155,DIN3202,1S05752 g é
« Flange: ROUND WITH KEY DIAGONAL SQUARE HEAD DOUBLE D HEAD  Flange: %\Mj =
DIN,BS,UNI,ISO, ANSI, AS,JIS DIN,BS,UNI,ISO, ANSI, AS,JIS
* Mounting Flange: * Mounting Flange:
1SO5211 STANDARD MATERIALS OF MAIN PARTS 1SO5211 STANDARD MATERIALS OF MAIN PARTS
"F’,"::'g"z‘go':gfsum: ITEM PART NAME MATERIAL “F’,",\‘l’:g"z‘go':;fsure: ITEM PART NAME MATERIAL
-Appliz(siction' ) 1 Body Cast Iron,Ductile Iron,Carbon Steel,Stainless Steel -Appligction' ) 1 Body CI/DI/CS/SS
HVAC,Water Supply&Sewage, 2 Seat NBR,EPDM,Viton,Neoprene,Hypalon,SiIicon HVAC, Water Supply&Sewage, 2 Seat EPDM/PTFE/VITON/NBR/Hypalon
Food&Beverage,Chemical/ 3 Shaft Stainless Steel416,316,304 Food&Beverage,Chemical/ 3 Shaft S5416/316/304
petrochemical/processing, 4 Disc Ductile Iron +Ni,CF8,CF8M,Bronze petrochemical/processing, 4 Disc CF8/CF8M/DI+Ni
Power and Uilities,Paper 5 Pin Stainless Steel Power and Uilities,Paper 5 Pin SS304/SS316
and Pulp,Ship Building. 6 Bushing PTFE,Bronze and Pulp,Ship Building. 6 Bushing PTFE/Bronze
7 O Ring NBR,EPDM 7 O Ring NBR/EPDM
DIMENSIONS:(mm) DIMENSIONS:(mm)
SIZE key | UPPER FLANGE | ANSI 150 | DIN PN10/16 SIZE ) PN16 PN10 ANSI 150 JIS 10K
i DN A| B |C| D |L|do |P|H b3|/ K E p h | D1 a1 D1 a1 in [DN| © ol S Sy e 2 D1 | n-@d1| D1 | n-@d1| D1 | n-@d1| D1 | n-@d1
17 b =Y n-2 n-g 2 |50 | 42 | 126 | 77 |50 | 47| 35| 3 | 9 | 3X16 |125| 4-18 | 125 | 4-18 | 120.5 | 4-19 | 120 | 4-19
25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-18 | 145 | 4-18 | 139.5 | 4-19 | 140 | 4-19
2 50140 80 | 42| 526 | 32| 126 | 9 |10|3X16| 77 | 50 | 47 |36| 3 | 1205 | 419 125 418 8 80 | 452 | 12.6 77 50 | 4-7 | 35 3 9 3X16 160 | 8-18 | 160 | 8-18 | 152.5 | 4-19 | 150 | 4-19
4 100 | 52.1 |15.77| 90 70 | 4-9 | 55 3 11 5X19 180 | 8-18 | 180 | 8-18 | 190.5 | 8-19 | 175 | 8-19
22| 65 |152| 89 |447| 645 |32| 126 | 9 |10|3X16| 77 | 30 | 47 | 35| 3 | 1395 | 419 145 418 5 (125 54.4 |18.92]| 90 | 70 | 4-9 | 55 | 3 | 14 | 5X19 |210 | 8-18 | 210 | 8-18 | 216 | 8-22 | 210 | 8-23
6 150 | 55.8 |18.92| 90 70 | 4-9 | 55 3 14 5X19 240 | 8-23 | 240 | 8-23 | 241.5 | 8-22 | 240 | 8-23
3 |80 [159| 95 (452|788 |32| 126 |9 |10|3X16| 77 | 50 | 47 |35| 3 | 1525 | 419 160 4/818 8 [200]60.6 |22.1] 125 [102[4-12| 70 | 35| 17 | 5X19 |295| 12-23 | 295 | 8-23 | 298.5 | 8-22 | 290 | 12-23
10 | 250 | 65.6 [28.45| 125 [102|4-12| 70 | 3.5 | 22 8X28 355 | 12-27 | 350 | 12-23 362 12-25 | 355 | 12-25
4 [100]178| 114 |521| 104 |32|1577|11|12|5x19|90 | 70 | 49 | 55| 3 | 1905 | 819 180 818 12 300 | 76.9 | 31.6 | 125 |102|4-12] 70 |3.5| 22 | 8X28 |410 | 12-27 | 400 | 12-23 | 432 | 12-25 | 400 | 16-25
14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 470 | 16-27 | 460 | 16-23 476 12-29 | 445 | 16-25
16 | 400 | 86.5 [33.15| 175 [ 140|4-18| 100 4 24 10X50 | 525 | 16-30 | 515 | 16-27 540 16-29 | 510 | 16-27
5 [125/190|127|544 1233/ 32|1892|14| 14|5X19/ 90 | 70 | 49 |55 3 216 822 210 818 18 | 450 [105.6| 38 175 | 140 |4-18| 100 4 27 10X50 | 585 | 20-30 | 565 | 20-27 578 16-32 | 565 | 20-27
20 | 500 | 127 |41.15| 175 |140(4-18| 100 4 32 10X50 | 650 | 20-33 | 620 | 20-27 635 20-32 | 620 | 20-27
6 (150|203 | 139|558 |1556 (32| 1892 14|14 |5X19| 0 | 70 | 49 |35| 3 | 2415 | 82 240 823 24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 | 36 | 2-16X60 | 770 | 24-36 | 725 | 20-30 | 749.5 | 20-35 | 730 | 24-33
28 | 700 | 163 55 300 | 254|8-18|200| 5.5 2-18X63 | 840 | 24-36 | 840 | 24-30 | 863.5 | 28-35 | 840 | 24-33
8 (200(238|175|606|2025|45| 221 (17|17 |5X19|125|102|412| 70 | 35| 2985 | 822 295 81223 30 | 750 | 165 | 55 | 300 |254(8-18|200 5.5 2-18X63 | 914 | 24-39 | 914 | 24-33 | 914.5 28-11/4"] 900 | 24-33
32 | 800 | 188 55 300 | 254|8-18|200| 5.5 2-18X63 | 950 | 24-39 | 950 | 24-33 978 28-41 | 950 | 28-33
10 125012681203 165612505 |45 | 2845 |22 22 |8x28 | 125 1 102 1412 | 70 | 35| 362 | 12225 | 350/355 | 122307 36 | 900 | 203 | 75 | 300 |254|8-18] 200 5.5 2-20X100[1050| 28-39 [1050| 28-33 | 1086 | 32-41 [1050| 28-33
40 (1000 216 85 300 | 254|8-18|200| 5.5 2-20X100/1170| 28-42 |1160| 28-36 | 1200 | 36-41 [1160 | 28-39
42 |1050| 251 95 300 | 254|8-18|200| 5.5 2-25X140(1257| 32-44 (1257 | 32-37 |1257.5| 36-41 |1270| 28-39
12 1300306 242|769 3016|45| 316 | 22|24 | 8X28 | 125/ 102|412/ 70 | 35| 432 1225 | 400410 122327 48 |1200| 276 105 | 350 |298(8-23|230|5.5 2-28X140(1390| 32-50 (1380 | 32-41 (1422.5| 40-41 |1380| 32-39

O5/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./06



®
m TIANJIN TANGFA WATTS VALVE CO., LTD. WATTSI‘QVIEW

B U-Type Butterfly Valve

TIANJIN TANGFA WATTS VALVE CO., LTD. WATTS.\I,:QVI;IW

B Wwafer Butterfly Valve (As2129)

& ¥ *
f(&’ - \z\
T
= 2
& ‘ 2
L] 3 —+ & n-@d1

n-@d1

o
* Type: P * Type:
Wafer % Wafer 20 I
" <

* Face to Face: * Face to Face: I —
API609,BS5155,DIN3202,1S05752 W 20 API609,B55155,DIN3202,1S05752 SIS
* Flange: K w o x * Flange: o
DIN,BS,UNI,ISO, ANSI, AS,JIS W - S DIN,BS,UNI,ISO, ANSI, AS,JIS } —
* Mounting Flange: * Mounting Flange:
Somotr Somott e STANDARD MATERIALS OF MAIN PARTS
* Working Pressure: STANDARD MATERIALS OF MAIN PARTS * Working Pressure: ITEM PART NAME MATERIAL
i i ITEM PART NAME MATERIAL PN16(200PS) 1 Body CI/DI/CS/SS
» Appliaction: » Appliaction:
HVAC,Water Supply&Sewage, 1 Body CI/DI/CS/SS HVAC,Water Supply&Sewage, 2 Seat EPDM/PTFE/VITON/NBR/Hypalon
Food&Beverage,Chemical/ 2 Seat EPDM/PTFE/VITON/NBR/Hypalon Food&Beverage,Chemical/ 3 Shaft S5416/316/304
petrochemical/processing, 3 Shaft S$S416/316/304 petrochemical/processing, 4 Disc CF8/CF8M/DI+Ni
Power and Uilities,Paper 4 Disc CF8/CF8M/DI+NiBronze Power and Uilities,Paper 5 Pin SS304/SS316
and Pulp,Ship Building. 5 Bushing PTFE/Bronze and Pulp,Ship Building. 6 Bushing PTFE/Bronze
6 O Ring NBR/EPDM 7 O Ring NBR/EPDM
DIMENSIONS:(mm) DIMENSIONS:(mm)
SIZE PN16 PN10 ANSI 150 JIS 10K SIZE PN16 PN10 ANSI 150
in | DN © olY B ==Y L i 2 D1 | n-&d1 | D1 | n-@d1 D1 n-@d1| D1 | n-@d1 in | DN © Gl . S i i 2 D1 | n-@d1 4-M | D1 | n-@d1| 4-M D1 n-gd1 | 4-M
2 50 42 12.6 77 50 | 4-7 | 35 3 9 3X16 125 | 4-18 | 125 | 4-18 | 120.5 | 4-19 | 120 | 4-19 2 50 42 12.6 | 77 50 | 4-7 | 35 3 9 3X16 | 125 | 4-18 125 | 4-18 120.5 | 4-19
25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-18 | 145 | 4-18 | 139.5 | 4-19 | 140 | 4-19 25| 65 |44.7 | 126 | 77 50 | 4-7 | 35 3 9 3X16 | 145 | 4-18 145 | 4-18 139.5 | 4-19
3 80 |45.2 | 12.6 77 50 | 4-7 | 35 8 9 3X16 160 | 8-18 | 160 | 8-18 | 152.5 | 4-19 | 150 | 4-19 3 80 | 45.2 | 126 | 77 50 | 4-7 | 35 3] 9 3X16 | 160 | 8-18 160 | 8-18 152.5 | 4-19
4 100 | 52.1 [15.77| 90 70 | 4-9 | 55 3 11 5X19 | 180 | 8-18 | 180 | 8-18 | 190.5 | 8-19 | 175 | 8-19 4 100 | 52.1 |[15.77| 90 | 70 | 4-9 | 55 3 11 5X19 | 180 | 8-18 180 | 8-18 190.5 | 8-19
5 [125|54.4 |18.92| 90 70 | 4-9 | 55 3 14 5X19 |[210| 8-18 | 210 | 8-18 216 8-22 | 210 | 8-23 5 |125|54.4 {18.92| 90 | 70 | 4-9 | 55 3 14 5X19 [210| 8-18 210 | 8-18 216 8-22
6 |150 | 55.8 |18.92| 90 70 | 4-9 | 55 3 14 5X19 | 240 | 8-23 | 240 | 8-23 | 241.5 | 8-22 | 240 | 8-23 6 | 150 55.8 {18.92| 90 | 70 | 4-9 | 55 3 14 5X19 |240| 8-23 240 | 8-23 241.5 | 8-22
8 |200|60.6 | 22.1 | 125 |102|4-12| 70 | 3.5 | 17 5X19 | 295 | 12-23 | 295 | 8-23 | 298.5 | 8-22 | 290 | 12-23 8 |200|60.6 |221| 125 [102|4-12| 70 | 3.5 | 17 5X19 | 295 | 12-23 295 | 8-23 298.5 | 8-22
10 | 250 | 65.6 |28.45| 125 | 102 |4-12| 70 | 3.5 | 22 8X28 | 355 | 12-27 | 350 | 12-23 | 362 12-25 | 355 | 12-25 10 [ 250 | 65.6 |28.45| 125 [ 102 |4-12| 70 | 3.5 | 22 8X28 | 355 | 12-27 350 | 12-23 362 12-25
12 [ 300 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 410 | 12-27 | 400 | 12-23 | 432 12-25 | 400 | 16-25 12 [300|76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 410 | 12-27 400 | 12-23 432 12-25
14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 470 | 16-27 | 460 | 16-23 | 476 12-29 | 445 | 16-25 14 | 350 | 76.5 | 31.6 | 125 [ 102 |4-12| 70 | 3.5 | 22 8X28 | 470 | 16-27 460 | 16-23 476 12-29
16 [ 400 | 86.5 |33.15| 175 | 140 /4-18| 100 | 4 24 10X50 | 525 | 16-30 | 515 | 16-27 | 540 16-29 | 510 | 16-27 16 | 400 | 86.5 |33.15| 175 [140|4-18| 100 | 4 24 | 10X50 | 525 | 16-30 515 | 16-27 540 16-29
18 | 450 |105.6| 38 175 | 140 (4-18| 100 | 4 27 10X50 | 585 | 20-30 | 565 | 20-27 | 578 16-32 | 565 | 20-27 18 | 450 |105.6| 38 175 | 140(4-18| 100 | 4 27 | 10X50 | 585 | 20-30 565 | 20-27 578 16-32
20 | 500 | 127 |41.15| 175 | 140/4-18, 100 | 4 32 10X50 | 650 | 20-33 | 620 | 20-27 | 635 20-32 | 620 | 20-27 20 | 500 | 127 |41.15| 175 |140(4-18|100| 4 32 | 10X50 | 650 | 20-33 620 | 20-27 635 | 20-32
24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 36 | 2-16X60 | 770 | 24-36 | 725 | 20-30 | 749.5 | 20-35 | 730 | 24-33 24 | 600 | 152 |50.65| 210 |165(4-23|130| 5 36 |2-16X60| 770 | 24-36 725 | 20-30 749.5 | 20-35
28 | 700 | 163 55) 300 | 254 8-18| 200 | 5.5 2-18X63 | 840 | 24-36 | 840 | 24-30 | 863.5 | 28-35 | 840 | 24-33 28 | 700 | 163 59 300 |254|8-18|200 (5.5 2-18X63 | 840 | 24-36 |4-M33| 840 | 24-30 |4-M27| 863.5 | 28-35 (4-11/4"
30 | 750 | 165 55) 300 | 254 8-18| 200 | 5.5 2-18X63 | 914 | 24-39 | 914 | 24-33 | 914.5 28-11/4"] 900 | 24-33 30 | 750 | 165 5B 300 | 254|8-18|200|5.5 2-18X63 | 914 | 24-39 914 | 24-33 914.5 | 28-35 |4-11/4"
32 | 800 | 188 55 300 | 254 8-18| 200 | 5.5 2-18X63 | 950 | 24-39 | 950 | 24-33 | 978 | 28-41 | 950 | 28-33 32 | 800 | 188 55 | 300 |254(8-18|200|5.5 2-18X63 | 950 | 24-39 |4-M36| 950 | 24-33 |4-M30| 978 | 28-41 [4-11/2”
36 | 900 | 203 75 300 | 254 8-18| 200 | 5.5 2-20X100{1050| 28-39 [1050| 28-33 | 1086 | 32-41 |1050| 28-33 36 | 900 | 203 75 | 300 |254(8-18|200|5.5 2-20X100{1050| 28-39 |4-M36({1050| 28-33 |4-M30| 1086 | 32-41 |4-11/2”
40 |[1000, 216 85 300 | 254 8-18| 200 | 5.5 2-20X100{1170| 28-42 |1160| 28-36 | 1200 | 36-41 |1160| 28-39 40 [1000| 216 85 300 |254|8-18|200 5.5 2-20X100|{1170| 28-42 |4-M39(1160 | 28-36 |(4-M33| 1200 | 36-41 |4-11/2”
42 |[1050| 251 95 300 | 254 8-18| 200 | 5.5 2-25X140|1257| 32-44 |1257| 32-37 |1257.5| 36-41 (1270 | 28-39 42 [1050| 251 95 300 |254|8-18|200|5.5 2-25X140/1257| 32-44 1257 | 32-37 1257.5| 36-41 |4-11/2”
48 [(1200| 276 | 105 | 350 | 298 |8-23|230|5.5 2-28X140{1390| 32-50 |1380| 32-41 |1422. 5| 40-41 {1380 32-39 48 [1200| 276 | 105 | 350 [298|8-23|230|5.5 2-28X140[1390| 32-50 |4-M45|1380| 32-41 |4-M36(1422. 5| 40-41 |4-11/2”

O7/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./08



TANGFA
WATTS VALVE A

. Wafer Butterfly Valve (Throught Shaft Without Pin)

;
&

TIANJIN TANGFA WATTS VALVE CO., LTD.

®
W TIANJIN TANGFA WATTS VALVE CO., LTD.  JANGFA g

. Wafer Butterfly Valve (Half Shg\ft Without Pin)
9

@D1

>,<;< n-gd1
* Type: 299 * Type: o
Wafer b Wl Wafer
* Face to Face: S * Face to Face:
API1609,BS5155,DIN3202,1S05752 = API1609,BS5155,DIN3202,1S05752 Z-0q
* Flange: * Flange: % Wl e
DIN,BS,UNIISO, ANSI, AS,JIS DIN,BS,UNI,ISO, ANSI, AS,JIS =i S S
. i STANDARD MATERIALS OF MAIN PARTS .
* Mounting Flange: * Mounting Flange:

1SO5211 ITEM PART NAME MATERIAL 1505211
. Work|ng Pressure: 1 BOdy Cl/Dl/CS/SS . Work|ng Pressure: STAN DARD MATERIALS OF MAIN PARTS
PN16(200PSI
) Appli;cﬁon_ ) 2 Seat EPDM/PTFE/VITON/NBR/Hypalon iﬁ;ﬁﬂ?ﬁ" ITEM PART NAME MATERIAL
HVAC,Water Supply&Sewage, 3 L9wer Shaft S5416/316/304 HVAC,Water Supply&Sewage, 1 Body ClIDICS/SS
Food&Beverage,Chemical/ 4 Disc CF8/CF8M/DI+Ni Food&Beverage,Chemical/ 2 Seat EPDM/PTFE/VITON/NBR/Hypalon

petrochemical/processing, 5 Upper Shaft SS304/SS316 petrochemical/processing, 3 Shaft SS416/316/304

Power and Uilities,Paper 6 O Ring NBR/EPDM Power and Uilities,Paper 4 Disc CF8/CF8M/DI+Ni
and Pulp,Ship Building. 7 Bushing PTFE/Bronze and Pulp,Ship Building. 5 Bushing PTFE/Bronze

8 BOLTS CS 6 O Ring NBR/EPDM
DIMENSIONS:(mm) DIMENSIONS:(mm)

SIZE PN16 PN10 ANSI 150 JIS 10K SIZE PN16 PN10 ANSI 150 JIS 10K
in | DN © olY B ==Y L i 2 D1 | n-&d1 | D1 | n-@d1 D1 n-@d1| D1 | n-@d1 in | DN © oY S ==Y i i 2 D1 | n-@d1 | D1 | n-@d1 D1 n-@d1| D1 | n-@d1
2 50 42 12.6 77 50 | 4-7 | 35 3 9 3X16 125 | 4-18 | 125 | 4-18 | 120.5 | 4-19 | 120 | 4-19 2 50 42 12.6 77 50 | 4-7 | 35 3 9 3X16 125 | 4-18 | 125 | 4-18 | 120.5 | 4-19 | 120 | 4-19

25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-18 | 145 | 4-18 | 139.5 | 4-19 | 140 | 4-19 25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-18 | 145 | 4-18 | 139.5 | 4-19 | 140 | 4-19
3 80 |45.2 | 12.6 77 50 | 4-7 | 35 8 9 3X16 160 | 8-18 | 160 | 8-18 | 152.5 | 4-19 | 150 | 4-19 3 80 |45.2 | 12.6 77 50 | 4-7 | 35 8 9 3X16 160 | 8-18 | 160 | 8-18 | 152.5 | 4-19 | 150 | 4-19
4 100 | 52.1 [15.77| 90 70 | 4-9 | 55 3 11 5X19 | 180 | 8-18 | 180 | 8-18 | 190.5 | 8-19 | 175 | 8-19 4 100 52.1 [15.77| 90 70 | 4-9 | 55 3 11 5X19 | 180 | 8-18 | 180 | 8-18 | 190.5 | 8-19 | 175 | 8-19
5 [125|54.4 |18.92| 90 70 | 4-9 | 55 3 14 5X19 |[210| 8-18 | 210 | 8-18 216 8-22 | 210 | 8-23 5 | 125|54.4 |18.92| 90 70 | 4-9| 55 3 14 5X19 |210| 8-18 | 210 | 8-18 216 8-22 | 210 | 8-23
6 |150 | 55.8 |18.92| 90 70 | 4-9 | 55 3 14 5X19 | 240 | 8-23 | 240 | 8-23 | 241.5 | 8-22 | 240 | 8-23 6 |150 | 55.8 |18.92| 90 70 | 4-9 | 55 3 14 5X19 | 240 | 8-23 | 240 | 8-23 | 241.5 | 8-22 | 240 | 8-23
8 |200|60.6 | 22.1 | 125 |102|4-12| 70 | 3.5 | 17 5X19 | 295 | 12-23 | 295 | 8-23 | 298.5 | 8-22 | 290 | 12-23 8 |200|60.6 | 22.1 | 125 |102|4-12| 70 | 3.5 | 17 5X19 | 295 | 12-23 | 295 | 8-23 | 298.5 | 8-22 | 290 | 12-23
10 | 250 | 65.6 |28.45| 125 | 102 |4-12| 70 | 3.5 | 22 8X28 | 355 | 12-27 | 350 | 12-23 | 362 12-25 | 355 | 12-25 10 | 250 | 65.6 |28.45| 125 | 102 |4-12| 70 | 3.5 | 22 8X28 | 355 | 12-27 | 350 | 12-23 | 362 12-25 | 355 | 12-25
12 [ 300 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 410 | 12-27 | 400 | 12-23 | 432 12-25 | 400 | 16-25 12 [300|76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 410 | 12-27 | 400 | 12-23 | 432 12-25 | 400 | 16-25
14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 470 | 16-27 | 460 | 16-23 | 476 12-29 | 445 | 16-25 14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 470 | 16-27 | 460 | 16-23 | 476 12-29 | 445 | 16-25
16 [ 400 | 86.5 |33.15| 175 | 140 /4-18| 100 | 4 24 10X50 | 525 | 16-30 | 515 | 16-27 | 540 16-29 | 510 | 16-27 16 [ 400 | 86.5 |33.15| 175 | 140 /4-18| 100 | 4 24 10X50 | 525 | 16-30 | 515 | 16-27 | 540 16-29 | 510 | 16-27
18 | 450 |105.6| 38 175 | 140 (4-18| 100 | 4 27 10X50 | 585 | 20-30 | 565 | 20-27 | 578 16-32 | 565 | 20-27 18 | 450 |105.6| 38 175 | 140 |4-18| 100 | 4 27 10X50 | 585 | 20-30 | 565 | 20-27 | 578 16-32 | 565 | 20-27
20 | 500 | 127 [41.15| 175 | 140|4-18| 100 | 4 32 10X50 | 650 | 20-33 | 620 | 20-27 | 635 20-32 | 620 | 20-27 20 | 500 | 127 |41.15| 175 | 140/4-18 100 | 4 32 10X50 | 650 | 20-33 | 620 | 20-27 | 635 20-32 | 620 | 20-27
24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 36 | 2-16X60 | 770 | 24-36 | 725 | 20-30 | 749.5 | 20-35 | 730 | 24-33 24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 36 | 2-16X60 | 770 | 24-36 | 725 | 20-30 | 749.5 | 20-35 | 730 | 24-33
28 | 700 | 163 55 300 | 254 8-18| 200 | 5.5 2-18X63 | 840 | 24-36 | 840 | 24-30 | 863.5 | 28-35 | 840 | 24-33 28 [ 700 | 163 55 300 | 254 |8-18| 200 | 5.5 2-18X63 | 840 | 24-36 | 840 | 24-30 | 863.5 | 28-35 | 840 | 24-33
30 | 750 | 165 55) 300 | 254 8-18| 200 | 5.5 2-18X63 | 914 | 24-39 | 914 | 24-33 | 914.5 28-11/4"] 900 | 24-33 30 | 750 | 165 5% 300 | 254 |8-18| 200 | 5.5 2-18X63 | 914 | 24-39 | 914 | 24-33 | 914.5 28-11/4"] 900 | 24-33
32 | 800 | 188 55 300 | 254 8-18| 200 | 5.5 2-18X63 | 950 | 24-39 | 950 | 24-33 | 978 | 28-41 | 950 | 28-33 32 | 800 | 188 55 300 | 254 |8-18| 200 |5.5 2-18X63 | 950 | 24-39 | 950 | 24-33 | 978 28-41 | 950 | 28-33
36 | 900 | 203 75 300 | 254 8-18| 200 | 5.5 2-20X100{1050| 28-39 [1050| 28-33 | 1086 | 32-41 |1050| 28-33 36 | 900 | 203 75 300 | 254 |8-18| 200 |5.5 2-20X100{1050| 28-39 [1050| 28-33 | 1086 | 32-41 |1050| 28-33
40 [1000| 216 85 300 | 254 8-18| 200 | 5.5 2-20X100{1170| 28-42 |1160| 28-36 | 1200 | 36-41 |1160| 28-39 40 [(1000| 216 85 300 | 254 |8-18| 200 | 5.5 2-20X100{1170| 28-42 [1160| 28-36 | 1200 | 36-41 |1160| 28-39
42 |[1050| 251 95 300 | 254 (8-18| 200 | 5.5 2-25X140|1257| 32-44 |1257| 32-37 |1257.5| 36-41 (1270 | 28-39 42 [1050| 251 95 300 | 254 |8-18| 200 | 5.5 2-25X140|1257| 32-44 |1257| 32-37 |1257.5| 36-41 [1270| 28-39
48 [1200| 276 105 | 350 |298|8-23|230| 5.5 2-28X140{1390| 32-50 |1380| 32-41 |1422. 5| 40-41 {1380 32-39 48 (1200| 276 | 105 | 350 | 298 |8-23|230|5.5 2-28X140{1390| 32-50 |{1380| 32-41 |{1422. 5| 40-41 [1380| 32-39

Og/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./1 O



TANGFA

WATTS VALVE

TANGFA
WATTS VALVE ‘

TIANJIN TANGFA WATTS VALVE CO., LTD.

TIANJIN TANGFA WATTS VALVE CO., LTD.

. Wafer Butterfly Valve
(with tongue And Groove Seat Without Pin)

. Wafer Butterfly Valve
(Four Holes With Tongue-And-Groove Seat)

:
L

n-@d1
* Type: ~ * Type:

Wafer % Wafer
* Face to Face: ﬁ 20 * Face to Face:

API1609,BS5155,DIN3202,1S05752 — % WooE API1609,BS5155,DIN3202,1S05752
* Flange: M * Flange: 1
DIN,BS,UNIISO, ANSI, AS,JIS DIN,BS,UNI,ISO, ANSI, AS,JIS al
* Mounting Flange: * Mounting Flange:

Somotr STANDARD MATERIALS OF MAIN PARTS Somart ¢
* Working Pressure: ITEM PART NAME MATERIAL * Working Pressure: STANDARD MATERIALS OF MAIN PARTS
PN16(200PS1) 1 Body CIDIICS/SS N e ITEM PART NAME MATERIAL
» Appliaction: » Appliaction:

HVAC,Water Supply&Sewage, 2 Seat EPDM/PTFE/VITON/NBR/Hypalon HVAC, Water Supply&Sewage, 1 Body CI/DI/CS/SS

Food&Beverage,Chemical/ 3 Shaft SS416/316/304 Food&Beverage,Chemical/ 2 Seat EPDM/PTFE/VITON/NBR/Hypalon

petrochemical/processing, 4 Disc CF8/CF8M/DI+Ni petrochemical/processing, 3 Shaft S5416/316/304

Power and Ulilities,Paper 5 Pin SS304/SS316 Power and Ulilities,Paper 4 Disc CF8/CF8M/DI+Ni

and Pulp,Ship Building. 6 Bushing PTFE/Bronze and Pulp,Ship Building. 5 Bushing PTFE/Bronze

7 O Ring NBR/EPDM 6 O Ring NBR/EPDM
DIMENSIONS:(mm) DIMENSIONS:(mm)

SIZE PN16 PN10 ANSI 150 JIS 10K SIZE PN16 PN10 ANSI 150 JIS 10K
in | DN © olY B ==Y L i 2 D1 | n-&d1 | D1 | n-@d1 D1 n-@d1| D1 | n-@d1 in | DN © oY S ==Y i i 2 D1 | n-@d1 | D1 | n-@d1 D1 n-@d1| D1 | n-@d1
2 50 42 12.6 77 50 | 4-7 | 35 3 9 3X16 125 | 4-18 | 125 | 4-18 | 120.5 | 4-19 | 120 | 4-19 2 50 42 12.6 77 50 | 4-7 | 35 3 9 3X16 125 | 4-18 | 125 | 4-18 | 120.5 | 4-19 | 120 | 4-19

25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-18 | 145 | 4-18 | 139.5 | 4-19 | 140 | 4-19 25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-18 | 145 | 4-18 | 139.5 | 4-19 | 140 | 4-19
3 80 |45.2 | 12.6 77 50 | 4-7 | 35 8 9 3X16 160 | 8-18 | 160 | 8-18 | 152.5 | 4-19 | 150 | 4-19 3 80 |45.2 | 12.6 77 50 | 4-7 | 35 8 9 3X16 160 | 8-18 | 160 | 8-18 | 152.5 | 4-19 | 150 | 4-19
4 100 | 52.1 |[15.77| 90 70 | 4-9 | 55 3 11 5X19 | 180 | 8-18 | 180 | 8-18 | 190.5 | 8-19 | 175 | 8-19 4 100 | 52.1 |15.77| 90 70 | 4-9 | 55 & 11 5X19 | 180 | 8-18 | 180 | 8-18 | 190.5 | 8-19 | 175 | 8-19
5 |125|54.4 |{18.92| 90 70 | 4-9 | 55 3 14 5X19 |210| 8-18 | 210 | 8-18 216 8-22 | 210 | 8-23 5 |125|54.4 |{18.92| 90 70 | 4-9 | 55 3 14 5X19 |210| 8-18 | 210 | 8-18 216 8-22 | 210 | 8-23
6 |150 | 55.8 |18.92| 90 70 | 4-9 | 55 3 14 5X19 | 240 | 8-23 | 240 | 8-23 | 241.5 | 8-22 | 240 | 8-23 6 | 150 | 55.8 [18.92| 90 70 | 4-9 | 55 3 14 5X19 | 240 | 8-23 | 240 | 8-23 | 241.5 | 8-22 | 240 | 8-23
8 |200|60.6 | 22.1 | 125 |102|4-12| 70 | 3.5 | 17 5X19 | 295 | 12-23 | 295 | 8-23 | 298.5 | 8-22 | 290 | 12-23 8 |200|60.6 | 22.1 | 125 |102|4-12| 70 | 3.5 | 17 5X19 | 295 | 12-23 | 295 | 8-23 | 298.5 | 8-22 | 290 | 12-23
10 | 250 | 65.6 |28.45| 125 | 102 |4-12| 70 | 3.5 | 22 8X28 | 355 | 12-27 | 350 | 12-23 | 362 12-25 | 355 | 12-25 10 | 250 | 65.6 |28.45| 125 | 102 |4-12| 70 | 3.5 | 22 8X28 | 355 | 12-27 | 350 | 12-23 | 362 12-25 | 355 | 12-25
12 [ 300 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 410 | 12-27 | 400 | 12-23 | 432 12-25 | 400 | 16-25 12 [300|76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 410 | 12-27 | 400 | 12-23 | 432 12-25 | 400 | 16-25
14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 470 | 16-27 | 460 | 16-23 | 476 12-29 | 445 | 16-25 14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 470 | 16-27 | 460 | 16-23 | 476 12-29 | 445 | 16-25
16 [ 400 | 86.5 |33.15| 175 | 140 /4-18| 100 | 4 24 10X50 | 525 | 16-30 | 515 | 16-27 | 540 16-29 | 510 | 16-27 16 [ 400 | 86.5 |33.15| 175 | 140 /4-18| 100 | 4 24 10X50 | 525 | 16-30 | 515 | 16-27 | 540 16-29 | 510 | 16-27
18 | 450 |105.6| 38 175 | 140 (4-18| 100 | 4 27 10X50 | 585 | 20-30 | 565 | 20-27 | 578 16-32 | 565 | 20-27 18 | 450 |105.6| 38 175 | 140 |4-18| 100 | 4 27 10X50 | 585 | 20-30 | 565 | 20-27 | 578 16-32 | 565 | 20-27
20 | 500 | 127 [41.15| 175 | 140|4-18| 100 | 4 32 10X50 | 650 | 20-33 | 620 | 20-27 | 635 20-32 | 620 | 20-27 20 | 500 | 127 |41.15| 175 | 140/4-18 100 | 4 32 10X50 | 650 | 20-33 | 620 | 20-27 | 635 20-32 | 620 | 20-27
24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 36 | 2-16X60 | 770 | 24-36 | 725 | 20-30 | 749.5 | 20-35 | 730 | 24-33 24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 36 | 2-16X60 | 770 | 24-36 | 725 | 20-30 | 749.5 | 20-35 | 730 | 24-33
28 | 700 | 163 55 300 | 254 8-18| 200 | 5.5 2-18X63 | 840 | 24-36 | 840 | 24-30 | 863.5 | 28-35 | 840 | 24-33 28 [ 700 | 163 55 300 | 254 |8-18| 200 | 5.5 2-18X63 | 840 | 24-36 | 840 | 24-30 | 863.5 | 28-35 | 840 | 24-33
30 | 750 | 165 55) 300 | 254 8-18| 200 | 5.5 2-18X63 | 914 | 24-39 | 914 | 24-33 | 914.5 28-11/4"] 900 | 24-33 30 | 750 | 165 5% 300 | 254 |8-18| 200 | 5.5 2-18X63 | 914 | 24-39 | 914 | 24-33 | 914.5 28-11/4"] 900 | 24-33
32 | 800 | 188 55 300 | 254 8-18| 200 | 5.5 2-18X63 | 950 | 24-39 | 950 | 24-33 | 978 | 28-41 | 950 | 28-33 32 | 800 | 188 55 300 | 254 |8-18| 200 |5.5 2-18X63 | 950 | 24-39 | 950 | 24-33 | 978 28-41 | 950 | 28-33
36 | 900 | 203 75 300 | 254 8-18| 200 | 5.5 2-20X100{1050| 28-39 [1050| 28-33 | 1086 | 32-41 |1050| 28-33 36 | 900 | 203 75 300 | 254 |8-18| 200 |5.5 2-20X100{1050| 28-39 [1050| 28-33 | 1086 | 32-41 |1050| 28-33
40 [1000| 216 85 300 | 254 8-18| 200 | 5.5 2-20X100{1170| 28-42 |1160| 28-36 | 1200 | 36-41 |1160| 28-39 40 [(1000| 216 85 300 | 254 |8-18| 200 | 5.5 2-20X100{1170| 28-42 [1160| 28-36 | 1200 | 36-41 |1160| 28-39
42 |[1050| 251 95 300 | 254 (8-18| 200 | 5.5 2-25X140|1257| 32-44 |1257| 32-37 |1257.5| 36-41 (1270 | 28-39 42 [1050| 251 95 300 | 254 |8-18| 200 | 5.5 2-25X140|1257| 32-44 |1257| 32-37 |1257.5| 36-41 [1270| 28-39
48 [1200| 276 105 | 350 |2988-23|230|5.5 2-28X140{1390| 32-50 |1380| 32-41 |1422. 5| 40-41 {1380 32-39 48 |1200| 276 | 105 | 350 | 298|8-23|230|5.5 2-28X140{1390| 32-50 |{1380| 32-41 |{1422. 5| 40-41 [1380| 32-39

1 1 /TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./1 2



®

®
TANGFA ' TANGFA
m TIANJIN TANGFA WATTS VALVE CO., LTD. > TANGFA 8 TIANJIN TANGFA WATTS VALVE CO., LTD. > TANGFA 8
. PTFE Coated Butterfly Valve(Wafer Type) . Flange Butterfly Valve
; oy
C - .
n-Gd1 ad0

D1

o

AT | \2

i

.1241

¥

L

| 5

S/ N
* Type: L * Type:
Wafer Flange Zq
* Face to Face: * Face to Face: f% 1 % wl
API609,BS5155,DIN3202,1S05752 API609,BS5155,DIN3202,1S05752 %&( = e
* Flange: * Flange:
DIN,BS,UNI,ISO, ANSI, AS,JIS DIN,BS,UNIISO, ANSI, AS,JIS
* Mounting Flange: . - * Mounting Flange:
Sotmt1 DIMENSIONS:(mm) o1 STANDARD MATERIALS OF MAIN PARTS

- : D1 D1 D1 D1 . . :
* Working Pressure: SIZE 150LB  PN10 | PN16 | 10K L CXC |1S05211 K E n-@ Working Pressure: ITEM PART NAME MATERIAL
imﬁ(z":f’PS') DN50 | 120.7 | 125 | 125 | 120 | 43 | 9X9 | FO7 | 90 | 70 | 50 ZN1?_(2(:9PS') 1 Body CI/DI/CS/SS
* Appliaction: DN65 | 139.7 | 145 | 145 | 140 | 46 | 9X9 | F07 | 90 70 65 * Appliaction: Seat
HVAC,Water Supply&Sewage, DN80 | 152.4 | 160 | 160 | 150 | 46 | 9X9 | FO7 | 90 70 80 HVAC,Water Supply&Sewage, 2 e e e R o
Food&Beverage,Chemicalf DN100| 190.5 | 180 | 180 | 175 | 52 |11X11| F07 | 90 70 | 100 Food&Beverage,Chemicall 3 S_haﬁ SS416/316/304
petrochemical/processing, DN125| 215.9 | 210 | 210 | 210 56 | 14X14| FO7 90 70 125 petrochemical/processing, 4 Disc CF8/CF8M/DI+Ni
Power and Uilities,Paper gs;gg gg;-g ggg ggg ggg gg 1‘;?1‘7‘ E% 19205 17002 ;gg Power and Uilities,Paper 5 Pin S$S304/SS316
Pulp,Ship Building. : Pulp,Ship Building. i
and Pulp,Ship Building DN250| 362 | 350 | 355 | 355 | 68 |22X22| F10 | 125 | 102 | 250 and Pulp,Ship Building 6 ENEl PTFE/Bronze
DN300| 431.8 | 400 | 410 | 400 | 78 |22X22| F10 | 125 | 102 | 300 7 O Ring NBR/EPDM

DIMENSIONS:(mm)

STANDARD MATERIALS OF MAIN PARTS
SIZE PN16 PN10 ANSI 150 JIS 10K
190 ESELING ﬁ?ﬁ? 244 n[DN] © | 90 | K |E|2zd) 9 h | P bXI FooTr 41 D1 [n-@di]| D1 |n-@d1] D1 | n-@d1
2 | 50 | 42 | 12.6| 77 | 50 | 4-7 | 35 | 3 | 9 | 3X16 | 125| 4-18 | 125 | 4-18 | 120.5 | 4-19 | 120 | 4-19
8 PRESSING SLEEVE STAINLESS STEEL 2 25| 65 | 44.7 | 12.6 | 77 | 50 | 4-7 | 35 | 3 | 9 | 3X16 | 145 4-18 | 145 | 4-18 | 139.5 | 4-19 | 140 | 4-19
7 SEAT ENERQIZER SILICONE 2 3 | 80 |45.2 | 12.6 | 77 | 50 | 47| 35| 3 | 9 | 3X16 |160| 8-18 | 160 | 8-18 | 152.5 | 4-19 | 150 | 4-19
g BIPS%HAFT gﬁgmg?ggwssms 1 4 100 | 52.1 |15.77| 90 | 70 | 4-9 | 55 | 3 | 11 | 5X19 |180| 8-18 | 180 | 8-18 | 190.5 | 8-19 | 175 | 8-19
5 | 125 54.4 |18.92| 90 | 70 | 4-9 | 55 | 3 | 14 | 5X19 | 210 | 8-18 | 210 | 8-18 | 216 | 8-22 | 210 | 8-23
4 BUTTERFLY SPRING SPRING STEEL 8 6 | 150 | 55.8 |18.92| 90 | 70 | 4-9 | 55 | 3 | 14 | 5X19 | 240 | 8-23 | 240 | 8-23 | 241.5 | 8-22 | 240 | 8-23
3 LINER(SEAT) PTFE 1 8 | 200 | 60.6 | 22.1 | 125 | 102 |4-12| 70 | 3.5 | 17 | 5X19 | 295 | 12-23 | 295 | 8-23 | 298.5 | 8-22 | 290 | 12-23
2 DOWN SHAFT $8410 1 10 | 250 | 65.6 |28.45| 125 |102|4-12| 70 | 3.5 | 22 | 8X28 | 355 | 12-27 | 350 | 12-23 | 362 | 12-25 | 355 | 12-25
1 BODY Cl/DI 2 12 | 300 | 76.9 | 31.6 | 125 |102|4-12| 70 | 3.5 | 22 | 8X28 |410 | 12-27 | 400 | 12-23 | 432 | 12-25 | 400 | 16-25
No! NAME MATERIAL i 14 350 | 76.9 | 31.6 | 125 |102|4-12| 70 |3.5| 22 | 8X28 | 470 | 16-27 | 460 | 16-23 | 476 | 12-29 | 445 | 16-25
TEST SotPe ) B SHELL EE 16 | 400 | 86.5 |33.15| 175 | 140|4-18| 100 | 4 | 24 | 10X50 | 525 | 16-30 | 515 | 16-27 | 540 | 16-29 | 510 | 16-27
PRESSURE HYDROSTATIC 15BAR TBAR 18 | 450 |105.6| 38 | 175 | 140|4-18| 100 | 4 | 27 | 10X50 | 585 | 20-30 | 565 | 20-27 | 578 | 16-32 | 565 | 20-27
AIR 20 | 500 | 127 |41.15| 175 | 140|4-18| 100 | 4 | 32 | 10X50 | 650 | 20-33 | 620 | 20-27 | 635 | 20-32 | 620 | 20-27
DESIGN AP1609 24 1600 | 152 |50.65| 210 | 165 |4-23| 130 | 5 | 36 | 2-16X60 | 770 | 24-36 | 725 | 20-30 | 749.5 | 20-35 | 730 | 24-33
e L=l alobs — 28 [700 | 163 | 55 | 300 | 254 |8-18] 200 | 5.5 2-18X63 | 840 | 24-36 | 840 | 24-30 | 863.5 | 28-35 | 840 | 24-33
SRR END STANDARD EN1092-2 PN6/10/16/AS"D™E"/JIS 30 | 750 | 165 | 55 | 300 | 254 |8-18| 200 | 5. 5 2-18X63 | 914 | 24-39 | 914 | 24-33 | 914.5 D8-11/47 900 | 24-33
B2220 10K/ASME B16.5150LB 32 | 800 | 188 | 55 | 300 | 254 |8-18| 200 | 5.5 2-18X63 | 950 | 24-39 | 950 | 24-33 | 978 | 28-41 | 950 | 28-33
FACE TO FACE AP1609 36 | 900 | 203 | 75 | 300 | 254 |8-18| 200 | 5.5 2-20X100/1050 28-39 |1050 | 28-33 | 1086 | 32-41 |1050 | 28-33
40 |1000] 216 | 85 | 300 | 254 8-18| 200 | 5.5 2-20X100|1170 | 28-42 |1160 | 28-36 | 1200 | 36-41 | 1160 | 28-39
42 11050| 251 | 95 | 300 | 254 8-18| 200 | 5.5 2-25X140(1257| 32-44 [1257 | 32-37 |1257.5 | 36-41 [1270| 28-39
48 11200] 276 | 105 | 350 | 298 8-23| 230 | 5.5 2-28X140/1390 32-50 [1380 | 32-41 |1422. 5| 40-41 |1380 | 32-39

1 3/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./1 4



®
m TIANJIN TANGFA WATTS VALVE CO., LTD. ol

CONCENTRIC BUTTERFLY VALVE

Water works and water
resource project
Environment protection
Public facilities

Power and public utilities
Building industry
Petroleum, chemical

Steel, metallurgy

Paper making industry

Foods, Beverage

TANGFA

S VALVE

Butterfly valve as used as shutting-off or throtting unit for petroleum

processing, chemicals, food, medicine, textile, paper making, hydroelecuicity

engineering as well as light industry, etc. it can be installed in any selected

position.

1 5/TIANJIN UNION VALVE CO., LTD.

®
m TIANJIN TANGFA WATTS VALVE CO., LTD. WATTva':'GFA

Through precise manufacturing, the main parts of this butterfly valve ensure valve’s operation in long stable and reliable condi

BUSHING oo Dust-protect seal

Reduce driving torque

support stem, and effectively
separate it with valve body
reduce wear of stem.

--------------- Integral stem
design

Ensures dependable and
positive disc control

High precision disc -~
external profiles

Reach the requirement of
bubble-tight, small start and
stop torque, longer usage life
of seat.

'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
i

TTrmmmrmommmsoeoooooo oo Backed seat
Non—collapsible, stretch—
resistant and leakage proof.

Easily filed replaceable.

TIANJIN UNION VALVE CO., LTD./1 6



TANGFA

WATTS VALVE

TANGFA
WATTS VALVE A

. Lug Butterfly Valve (Through Shaft Without Pin)

TIANJIN TANGFA WATTS VALVE CO., LTD.

TIANJIN TANGFA WATTS VALVE CO., LTD.

. Lug Butterfly Valve(Through Shaft With Pin)

n-@d1

* Type: * Type:
Lugged Lugged
* Face to Face: * Face to Face: Wl =
SIS

AP1609,BS5155,DIN3202,1S05752
* Flange:

DIN,BS,UNI,ISO, ANSI, AS,JIS
* Mounting Flange:

AP1609,BS5155,DIN3202,1S05752
* Flange:

DIN,BS,UNI,ISO, ANSI, AS,JIS
* Mounting Flange:

)
) a

STANDARD MATERIALS OF MAIN PARTS

% 20y

STANDARD MATERIALS OF MAIN PARTS

73

1ISO5211 1SO5211
» Working Pressure: * Working Pressure:
e — ey ——
HVAC,Water Supply&Sewage, 2 Seat EPDM/PTFE/VITON/NBR/Hypalon HVAC, Water Supply&Sewage, 2 Seat EPDM/PTFE/VITON/NBR/Hypalon
Food&Beverage,Chemical/ 3 Shaft S5416/316/304/CS Food&Beverage,Chemical/ 3 Shaft $S416/316/304/CS
petrochemical/processing, 4 Disc CF8/CF8M/DI+Ni/SS304 petrochemical/processing, 4 Disc CF8/CF8M/DI+Ni/SS304
Power and Uilities,Paper 5 Pin SS Power and Uilities,Paper 5 Bushing PTFE/Bronze
and Pulp,Ship Building. 6 Bushing PTFE/Bronze and Pulp,Ship Building. 5 O Ring NBR/EPDM
7 O Ring NBR/EPDM

DIMENSIONS:(mm) DIMENSIONS:(mm)

2 50 | 42 | 12.6 4-7 3 3X16 4-M16 4-M16 | 120.5 | 4-5/8” 2 50 | 42 4-7 3 3X16 4-M16 4-M16 | 120.5 | 4-5/8”

25| 65 | 44.7 | 12.6 | 77 | 50 | 4-7 | 35 3 9 3X16 | 145 | 4-M16 | 145 | 4-M16 | 139.5 | 4-5/8” | 140 | 4-M16 25| 65 |44.7 | 126 | 77 | 50 | 4-7 | 35 3 9 3X16 | 145 | 4-M16 | 145 | 4-M16 | 139.5 | 4-5/8” | 140 | 4-M16
3 80 |45.2 | 12.6 | 77 | 50 | 4-7 | 35 S) 9 3X16 | 160 | 8-M16 | 160 | 8-M16 | 152.5 | 4-5/8” | 150 | 4-M16 3 | 80 [45.2 | 126 | 77 | 50 | 4-7 | 35 8] 9 3X16 | 160 | 8-M16 | 160 | 8-M16 | 152.5 | 4-5/8” | 150 | 4-M16
4 |100 | 52.1 |15.77| 90 | 70 | 4-9 | 55 S 11 5X19 | 180 | 8-M16 | 180 | 8-M16 | 190.5 | 8-5/8” | 175 | 8-M16 4 100 | 52.1 |[15.77| 90 | 70 | 4-9 | 55 3 11 5X19 | 180 | 8-M16 | 180 | 8-M16 | 190.5 | 8-5/8” | 175 | 8-M16
5 |125|54.4 [18.92] 90 | 70 | 4-9 | 55 3 14 5X19 |210 |8-M16 | 210 | 8-M16 | 216 8-3/4” | 210 | 8-M20 5 |125|54.4 [18.92| 90 | 70 | 4-9 | 55 3 14 5X19 | 210 | 8-M16| 210 | 8-M16 | 216 8-3/4” | 210 | 8-M20
6 | 150 | 55.8 [18.92| 90 | 70 | 4-9 | 55 3 14 5X19 | 240 | 8-M20 | 240 | 8-M20 | 241.5 | 8-3/4" | 240 | 8-M20 6 | 150 | 55.8 [18.92| 90 | 70 | 4-9 | 55 3 14 5X19 | 240 | 8-M20 | 240 | 8-M20 | 241.5 | 8-3/4” | 240 | 8-M20
8 |200|60.6 | 22.1| 125 |102[4-12| 70 | 3.5 | 17 5X19 | 295 |12-M20| 295 | 8-M20 | 298.5 | 8-3/4" | 290 |12-M20 8 200|606 | 221 | 125 |102[4-12| 70 | 3.5 | 17 5X19 | 295 |[12-M20| 295 | 8-M20 | 298.5 | 8-3/4” | 290 |12-M20
10 | 250 | 65.6 |28.45| 125 |102|4-12| 70 | 3.5 | 22 8X28 | 355 |12-M24| 350 [12-M20| 362 | 12-7/8" | 355 |12-M22 10 | 250 | 65.6 |28.45| 125 | 102 |4-12| 70 | 3.5 | 22 8X28 | 355 |12-M24| 350 [12-M20| 362 | 12-7/8” | 355 |12-M22
12 | 300|76.9 | 31.6 | 125 |102]4-12| 70 |3.5| 22 8X28 | 410 |12-M24| 400 [12-M20| 432 | 12-7/8" | 400 |16-M22 12 |300|76.9 | 31.6 | 125 |102|4-12| 70 |[3.5| 22 8X28 | 410 |12-M24| 400 [12-M20| 432 | 12-7/8” | 400 |16-M22
14 350 |76.9 | 31.6 | 125 |102]4-12| 70 |3.5| 22 8X28 | 470 |16-M24| 460 |16-M20| 476 12-1” | 445 [16-M22 14 [350|76.9|31.6 | 125 |102|4-12| 70 [3.5| 22 8X28 | 470 [16-M24| 460 |16-M20| 476 12-1” | 445 |16-M22
16 | 400 | 86.5 |[33.15| 175 | 140/|4-18| 100 | 4 24 | 10X50 | 525 |20-M27| 515 |16-M24| 540 16-1" | 510 |16-M24 16 | 400 | 86.5 |[33.15]| 175 | 140 |4-18| 100 | 4 24 | 10X50 | 525 |20-M27| 515 [16-M24| 540 16-1" | 510 |16-M24
18 | 450 |105.6| 38 175 |140|4-18|/ 100 | 4 27 | 10X50 | 585 |20-M27| 565 [20-M24| 578 |16-11/8”| 565 |20-M24 18 | 450 |[105.6| 38 175 | 140 /4-18| 100 | 4 27 | 10X50 | 585 [20-M27| 565 |20-M24| 578 |16-11/8”| 565 |20-M24
20 | 500 | 127 |41.15| 175 [140[4-18/100| 4 32 | 10X50 | 650 [20-M30| 620 |20-M24| 635 |20-11/8”| 620 [20-M24 20 | 500 | 127 |41.15] 175 | 140/4-18| 100 | 4 32 | 10X50 | 650 [20-M30| 620 |20-M24| 635 |20-11/8”| 620 |20-M24
24 | 600 | 152 |50.65| 210 |165]4-23| 130 | 5 36 | 2-16X60 | 770 [20-M33| 725 |20-M27| 749.5 |20-11/4"| 730 {24-M30 24 | 600 | 152 |50.65| 210 | 165|4-23/130| 5 36 | 2-16X60 | 770 [20-M33| 725 |20-M27| 749.5 |20-11/4"| 730 |24-M30
28 | 700 | 163 55 | 300 [254|8-18|200|5.5 2-18X63 | 840 [24-M33| 840 |24-M27| 863.5 |24-11/4"| 840 |24-M30 28 | 700 | 163 55 | 300 [254|8-18|200 5.5 2-18X63 | 840 [24-M33| 840 |24-M27| 863.5 |24-11/4"| 840 |24-M30
30 | 750 | 165 55 | 300 |254|8-18|200|5.5 2-18X63 | 914 [24-M36| 914 |24-M30| 914.5 |28-11/4"| 900 |24-M30 30 | 750 | 165 55 | 300 |254|8-18|200 5.5 2-18X63 | 914 [24-M36| 914 |24-M30| 914.5 |28-11/4"| 900 |24-M30
32 | 800 | 188 55 | 300 |254|8-18|200|5.5 2-18X63 | 950 [24-M36| 950 |24-M30| 978 |28-11/2"| 950 [28-M30 32 | 800 | 188 55 | 300 |254|8-18|200 5.5 2-18X63 | 950 |24-M36| 950 [24-M30| 978 |28-11/2"| 950 |28-M30
36 | 900 | 203 75 | 300 |254|8-18|200|5.5 2-20X100/1050(28-M36|1050 |28-M30| 1086 |32-11/2"/1050|28-M30 36 | 900 | 203 75 | 300 |254|8-18|200 5.5 2-20X100/1050(28-M36|1050|28-M30| 1086 |32-11/2"{1050|28-M30
40 |1000| 216 85 | 300 [254|8-18|200|5.5 2-20X100/1170(28-M39|1160 |28-M33| 1200 |36-11/2"|1160 [28-M36 40 [1000| 216 85 | 300 |254|8-18|200 5.5 2-20X100/1170(28-M39| 1160 |28-M33| 1200 |36-11/2"[1160 |28-M36
42 1050 251 95 | 300 [254|8-18|200|5.5 2-25X140|1257|32-M39[1257 |32-M36|1257.5 | 36-11/2" | 1270 [28-M36 42 |1050| 251 95 | 300 |254|8-18|200 5.5 2-25X140|1257|32-M39|1257 |32-M36|1257.5 | 36-11/2" | 1270 |28-M36
48 |1200| 276 | 105 | 350 |298|8-23|230|5.5 2-28X140(1390|32-M45|1380|32-M39|1422. 536-11/2" | 1380 |32-M36 48 |1200| 276 | 105 | 350 | 298 |8-23|230|5.5 2-28X140(1390|32-M45|1380|32-M39|1422. 5/36-11/2" 1380 |32-M36

1 7/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./1 8



TANGFA
WATTS VALVE A

. Lug Butterfly Valve (PTFE Through Shaft Without Pin)

TIANJIN TANGFA WATTS VALVE CO., LTD. TIANJIN TANGFA WATTS VALVE CO., LTD.

TANGFA
WATTS VALVE A

. Lug Butterfly Valve (Half Shaft Without Pin)

AL
* Type: 204 * Type:
Lugged %%%\ Lugged 20y

* Face to Face: Sk * Face to Face:
API609,BS5155,DIN3202,1S05752 %\\ZQ = API609,BS5155,DIN3202,1S05752 w|
* Flange: * Flange: S =
DIN,BS,UNI,ISO, ANSI, AS,JIS

DIN,BS,UNLISO, ANSI, AS,JIS
* Mounting Flange:

STANDARD MATERIALS OF MAIN PARTS

* Mounting Flange:
MATERIAL 1SO5211

1SO5211 ITEM PART NAME
» Working Pressure: 1 BOdy CI/DI/CS/SS * Working Pressure: STAN DARD MATERIALS OF MAIN PARTS
.ngﬁi‘:?gf') 2 Seat EPDM/NBR/PTFE/Viton/Hypalon _Z’:;ﬁi‘:?;f") ITEM PART NAME MATERIAL

HVAC,Water Supply&Sewage, 3 L9wer Shaft SS416/316/304 HVAC,Water Supply&Sewage, 1 Body CI/DISS

Food&Beverage,Chemical/ 4 Disc CF8/CF8M/DI+Ni/CF8+PTFE/CF8M+PTFE Food&Beverage,Chemical/ 2 Seat EPDM/NBR/Viton

petrochemical/processing, 5 Upper Shaft S$S416,316,304 petrochemical/processing, 3 Shaft SS416/316/304

Power and Uilities,Paper 6 O Ring NBR/EPDM Power and Ulilities,Paper 4 Disc DI+NI/CF8/CF8M

and Pulp,Ship Building. 7 Bushing PTFE and Pulp,Ship Building. 5 Bushing PTFE

8 BOLTS €S 6 O Ring NBR
DIMENSIONS:(mm) DIMENSIONS:(mm)

SIZE PN16 PN10 ANSI 150 JIS 10K SIZE PN16 PN10 ANSI 150 JIS 10K

in | DN € &y S s | =¢ B i : 24 D1 n-M D1 n-M D1 n-M D1 n-M in | DN € & S s | =¢ g i ¢ 24 D1 n-M D1 n-M D1 n-M D1 n-M

2 50 42 12.6 77 50 | 4-7 | 35 3 9 3X16 125 | 4-M16 | 125 | 4-M16 | 120.5 | 4-5/8” | 120 | 4-M16 2 50 42 12.6 77 50 | 4-7 | 35 3 9 3X16 125 | 4-M16 | 125 | 4-M16 | 120.5 | 4-5/8” | 120 | 4-M16
25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-M16 | 145 | 4-M16 | 139.5 | 4-5/8” | 140 | 4-M16 25| 65 | 44.7 | 12.6 77 50 | 4-7 | 35 3 9 3X16 145 | 4-M16 | 145 | 4-M16 | 139.5 | 4-5/8” | 140 | 4-M16
8 80 | 45.2 | 12.6 77 50 | 4-7 | 35 3 9 3X16 160 | 8-M16 | 160 | 8-M16 | 152.5 | 4-5/8” | 150 | 4-M16 8 80 | 45.2 | 12.6 77 50 | 4-7 | 35 3 9 3X16 160 | 8-M16 | 160 | 8-M16 | 152.5 | 4-5/8” | 150 | 4-M16
4 |100 | 52.1 |[15.77| 90 70 | 4-9 | 55 3 11 5X19 180 | 8-M16 | 180 | 8-M16 | 190.5 | 8-5/8” | 175 | 8-M16 4 100 | 52.1 |[15.77| 90 70 | 4-9 | 55 3 11 5X19 180 | 8-M16 | 180 | 8-M16 | 190.5 | 8-5/8” | 175 | 8-M16
5 |125| 54.4 {18.92| 90 70 | 4-9 | 55 3 14 5X19 |210|8-M16| 210 | 8-M16 | 216 8-3/4” | 210 | 8-M20 5 |125|54.4 |{18.92| 90 70 | 4-9 | 55 3 14 5X19 |210|8-M16| 210 | 8-M16 | 216 8-3/4” | 210 | 8-M20
6 | 150 | 55.8 |18.92| 90 70 | 4-9 | 55 3 14 5X19 | 240 | 8-M20 | 240 | 8-M20 | 241.5 | 8-3/4” | 240 | 8-M20 6 | 150 | 55.8 |18.92| 90 70 | 4-9 | 55 3 14 5X19 | 240 | 8-M20 | 240 | 8-M20 | 241.5 | 8-3/4” | 240 | 8-M20
8 |200|60.6 | 22.1 | 125 |102|4-12| 70 | 3.5 | 17 5X19 | 295 [12-M20| 295 | 8-M20 | 298.5 | 8-3/4” | 290 |12-M20 8 |1200|60.6 | 22.1 | 125 |102|4-12| 70 | 3.5 | 17 5X19 | 295 [12-M20| 295 | 8-M20 | 298.5 | 8-3/4” | 290 |12-M20
10 | 250 | 65.6 |28.45| 125 (102 |4-12| 70 | 3.5 | 22 8X28 355 [12-M24| 350 [12-M20| 362 12-7/18” | 355 |12-M22 10 | 250 | 65.6 |28.45| 125 | 102 |4-12| 70 | 3.5 | 22 8X28 | 355 |12-M24| 350 |12-M20| 362 12-7/18” | 355 |12-M22
12 [ 300 | 76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 410 [12-M24| 400 [12-M20| 432 12-7/18” | 400 |16-M22 12 [ 300 | 76.9 | 31.6 | 125 |102|4-12| 70 | 3.5 | 22 8X28 | 410 |12-M24| 400 |12-M20| 432 12-7/8” | 400 |16-M22
14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 470 [16-M24| 460 [16-M20| 476 12-1" | 445 [16-M22 14 | 350 |76.9 | 31.6 | 125 [102|4-12| 70 | 3.5 | 22 8X28 | 470 |16-M24| 460 |16-M20| 476 12-1" | 445 |16-M22
16 |[400 | 86.5 |33.15| 175 [140/4-18, 100 | 4 24 10X50 | 525 |20-M27| 515 |16-M24| 540 16-1” | 510 [16-M24 16 [ 400 | 86.5 |33.15| 175 | 140 /4-18 100 | 4 24 10X50 | 525 |20-M27| 515 |16-M24| 540 16-1" | 510 [16-M24
18 | 450 |105.6| 38 175 |140|4-18| 100 | 4 27 10X50 | 585 |20-M27| 565 |20-M24| 578 |[16-11/8"| 565 [20-M24 18 | 450 |105.6| 38 175 | 140 (4-18| 100 | 4 27 10X50 | 585 |20-M27| 565 |20-M24| 578 [16-11/8"| 565 [20-M24
20 | 500 | 127 |41.15| 175 | 140|4-18| 100 | 4 32 10X50 | 650 [20-M30| 620 |20-M24| 635 [20-11/8"| 620 [20-M24 20 | 500 | 127 |41.15| 175 | 140|4-18| 100 | 4 32 10X50 | 650 [20-M30| 620 |20-M24| 635 [20-11/8"| 620 [20-M24
24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 36 | 2-16X60 | 770 |20-M33| 725 (20-M27| 749.5 |20-11/4"| 730 |24-M30 24 | 600 | 152 |50.65| 210 | 165|4-23| 130 | 5 36 | 2-16X60 | 770 |20-M33| 725 |20-M27| 749.5 |20-11/4"| 730 |24-M30
28 | 700 | 163 55 300 |2548-18| 200 | 5.5 2-18X63 | 840 |24-M33| 840 |24-M27| 863.5 |24-11/4"| 840 [24-M30 28 | 700 | 163 Do) 300 | 254 8-18| 200 | 5.5 2-18X63 | 840 (24-M33| 840 (24-M27| 863.5 |24-11/4"| 840 |24-M30
30 | 750 | 165 55 300 |2548-18| 200 | 5.5 2-18X63 | 914 |24-M36| 914 [24-M30| 914.5 |28-11/4"| 900 [24-M30 30 | 750 | 165 55) 300 | 254 8-18| 200 | 5.5 2-18X63 | 914 (24-M36| 914 (24-M30| 914.5 |28-11/4"| 900 |24-M30
32 | 800 | 188 55 300 |2548-18|200| 5.5 2-18X63 | 950 [24-M36| 950 |24-M30| 978 |28-11/2"| 950 [28-M30 32 | 800 | 188 55 300 | 254 8-18| 200 | 5.5 2-18X63 | 950 (24-M36| 950 (24-M30| 978 |28-11/2"| 950 |28-M30
36 | 900 | 203 75 300 |2548-18|200| 5.5 2-20X100(1050/28-M36{1050|28-M30| 1086 |32-11/2"|1050 [28-M30 36 | 900 | 203 75 300 | 254 8-18| 200 | 5.5 2-20X100(1050/28-M36{1050|28-M30| 1086 |32-11/2"|1050 [28-M30
40 (1000| 216 85 300 |2548-18| 200 | 5.5 2-20X100{1170{28-M39| 1160 [28-M33| 1200 |36-11/2"|1160 |28-M36 40 (1000| 216 85 300 | 254 8-18| 200 | 5.5 2-20X100(1170|28-M39( 1160 |28-M33| 1200 |36-11/2"|1160 [28-M36
42 (1050| 251 95 300 | 254 (8-18| 200 | 5.5 2-25X140(1257|32-M39|1257 [32-M36|1257.5 | 36-11/2"| 1270 |28-M36 42 1050/ 251 95 300 | 254 (8-18| 200 | 5.5 2-25X140(1257|32-M39|1257 [32-M36|1257.5 | 36-11/2"| 1270 [28-M36
48 [1200| 276 105 | 350 |2988-23|230|5.5 2-28X140({1390|32-M45/1380 [32-M39(1422. 5|36-11/2"| 1380 |32-M36 48 [1200| 276 105 | 350 |[2988-23|230|5.5 2-28X140({1390(32-M45/1380 [32-M39|1422. 5|36-11/2"| 1380 [32-M36

1 g/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./20



TIANJIN TANGFA WATTS VALVE CO., LTD.

. Grooved End Butterfly Valve

TANGFA

WATTS VALVE

M

e

®

TIANJIN TANGFA WATTS VALVE CO., LTD.

L3
oK

i .
\\:5// . T
o = DN | 1
] ! D2 il
D3
* Type: \ * Type: :
Clamp Flage STANDARD MATERIALS OF MAIN PARTS

* Face to Face:
AP1609,BS5155,DIN3202,1S05752

* Face to Face:
AP1609,BS5155,DIN3202,1S05752

TANGFA

WATTS VALVE

e

. Resilient Seated Eccentric Flanged Butterfly Valve

« Flange: * Flange: 1 Bushing BRONZE\EPDM
DIN,BS,UNI,ISO, ANSI, AS,JIS DIN,BS,UNI,ISO, ANSI, AS,JIS 2 Bottom Shaft SS420
* Mounting Flange: * Mounting Flange:
1505211 1505211 B Body GGG50
* Working Pressure: * Working Pressure: 4 Packllng Sl
PN16(200PSI) STANDARD MATERIALS OF MAIN PARTS PN16(200PSI) 5 Retainer CS EPOXY COATED
* Appliaction: « Appliaction: 6 Taper Pin SS416
HVAC,Water Supply&Sewage, HVAC,Water Supply&Sewage, 7 Disc GGG50
Food&Beverage,Chemical/ 1 Body DI Food&Beverage,Chemical/ 8 Disc Sealing EPDM
petrochemical/processing, 2 Seat EPDM petrochemical/processing, 9 Stuffing Flange GGG50
Power and Uilities,Paper 3 Shaft S8416 Power and Uilities,Paper 10 Support CS
and Pulp,Ship Building. 4 Disc DI andiRulpishipiBuilding: 11 Top Shaft S5420
5 Pin S8416 12 Cover GGG50
13 All Fasteners A2-70

DIMENSIONS:(mm)

DIMENSIONS:(mm)

2 50 102 53 60 92 8 16

25 65 109 61 76 102 8 16 £ [100) 17 | 190 | 160] e8| 156|220 |19 | 3 | 180] 819|156 |20 [19 [ 3 |175 ) 819 [151 20 18 [ 2 [rons 819 (230 |23 % | 16 | 53 [%0] 10 |40] 52
3 80 112 68 89 102 8 16 5 15 w0 |20 [20] s19] e 20 19| 3 [2t0] 819] 1ee om0 |19 3 [2t0] 628 182 (o0 [0 | o 216 |82 |55 226] 45 | 20 | ¢35 |15 102 | apo! 703
4 100 136 85 114 116 10 16 X X I X ' X
2 100 136 25 n e 1L 12 6 (150 | 140 | 20 |240| 823|211 28519 | 3 | 0| 823|211 285 (19 | 3 | A0 1222 22020 0|2 s 62w 29 65 | 6*35 125 102 | 412| 709
6 150 177 3 165 195 10 16 g |20 | 152 | 20 [25] 823]266 (30 |20 | 3 [295]123]266 (30 |0 | 3 {290 (123 |82 |30 |2 | 2 g5 lem 35 |27 [ 45 | B | ¢ |15 102 |4l 703
8 200 234 143 216 138 11 19 10| 250 165 | 250 |350(12-23| 319395 | 22 355 [ 12-28| 319| 405 | 22 35 [12:25 | 324 {400 | 24 362 1225405 | 26| 45 % §3% 125 102 | 412 703
10 250 266 178 273 159 13 19 120300 178 | 270 [ 400 12:23) 370 445 |245| 4 | 40| 12-28( 370 | 460 (24.5) 4 | 400 [16-25 (368 445 | 24| 2 [432 1205 485(302] 50 | N | 845 [175| 140 | 418 1004
12 300 270 230 324 166 13 19 1 [0l 190 | 200 (460 16:23] 409|505 [245] 4 |470] 1628 429 | 500 (265 ¢ 445 (1625 [4t3 a0 [ 26| 3 [ar [1p20 (5% [ 334] 50 | &0 | 1245 |:0] 165 | 42| 1305

16400 | 216 | 310 |515| 16:28) 480 | 565 245
18 450 | 22 | 330 | 565|20-28) 530|615 255
20 |50 29 | 30 | 620 2028582 | 670 265
241600 | 267 | 390 | 76| 20-31) 682 | 780 | 30
2700 290 | 430 | 840 2431|794 895 325
321800 8 | 470 |950| 24-34 901 [1015 |35
3 /900 330 | 510 [100| 28-34 1001|1115 375
40 [1000) 410 | 550 |1160| 28:37 11121230 | 40
48 11200] 470 | 630 |1380] 3241|1328 {1455 | 45

50 [16:29(59% |35 | 50 | 46 | 1445 |20 165 | 422 1305
578 (16321635 384] 50 | 46| 445 |20 165 | 42] 1305
635 2032700 403 70 | 82| 1660 (210 165 | 42| 1305
7495 2035(816 [ 461 S0 | %5 |24670 [300] 254 | g18 | 200
8635(26:35/925 | 699| 90 | 65 | 2870 |300] 254 | g8 2005
978 | 26-41|1060) 794/ 100 | 70 |2:20%80 |300] 254 | 18| 2005
1086 3241|1170 889/ 100 | 80 [ 22280 |300] 254 | g1 2005
1200 3641|1290 889|145 | 92 [2125130|300] 254 | g18 | 2005
142254041 151011064 145 | 100 | 2°26M30 (350 208 | 8-22| 2305

565 | 20-31| 548 (640 | 30 | 4 | 5652027 (530 | 620 | 30
650 | 20-34(600 | 715 (315 4 | 6202027 (585 | 675 | 30
70| 20-37( 720 | 840 [36 | 5 | 730 | 2433 (690 | 795 | 32
840 | 24-37 | 794 1 910 (305 5 | 840 | 24-33 (800 | 905 | 4
050 | 2441|901 1102543 | 5 |980 | 2633 (905 |1020 | 36
1050] 2841 1001 1125 465 | 5 |1050| 28:33 | 1005 1120 | 38
1170, 2844 1121255 | 50 | 5 |1160|28-39 |1110|1235| 40
1390] 32-50 13281485 | 57 | 5 [1380] 30-39 1305 | 1465 | 44

ool e e e e o oo (o [

3
3
3
3
3
4
4
525 | 16-31(480 | 580 | 28 | 4 | 510 [ 16-27 |475 | 560 | 28
4
4
5
5
5
5
b
5

ol || |co|w |co|w oo (PP [ro o ro (o

21 /TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./22



®
TIANJIN TANGFA WATTS VALVE CO., LTD. > TANGFA <8 m TIANJIN TANGFA WATTS VALVE CO., LTD. P TANGFA

. Metal Seated Eccentric Butterfly Valve (Wafer Type) . PVC Butterfly valve

i

‘ n-gd1

@D1

—
N 11E ijﬁ}
i

| ——

* Type:

Wafer
* Face to Face:
AP1609,BS5155,DIN3202,1S05752

* Type:
Wafer
* Face to Face:
API1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:
1ISO5211
» Working Pressure:
PN16(200PSlI)
 Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,

1

L2
a

* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:
1ISO5211
* Working Pressure: H
PN16(200PSlI)
» Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/

petrochemical/processing,

—r—
\
7

£, @@
”‘@f

Power and Uilities,Paper Power and Uilities,Paper R
and Pulp,Ship Building. and Pulp,Ship Building.
STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm) STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm)

ITEM PART NAME MATERIAL SIZE L PN16 PN10 ANSI 150 ITEM PART NAME MATERIAL 5:;5 . 20 212" | 3 ]4" ]g" ]6" 28"
1 Gear Operator in_ DN 3 D1 ndt 1[;15 2?; DI ndt 1 Gear Operator S o ]568 ]%% ]22 22?3 2558 2583 333
2 Packing Flange CF8 2 50 125 4-18 - 1205 4-19 2 Body U_PVC DIN 125 145 160 180 210 240 295

2.5 | 65 46 | 145 | 418 | 145 | 418 |1395 4-19 ANSI| 121 | 140 | 152 | 191 | 216 | 241 | 298

3 Stud CS 3 .80 49 160 | 4(8)-18 | 160 = 8-18 1525 4-19 3 Seat seal EPDM Js | 120 | 140 | 150 | 175 | 210 | 240 | 290

4 Washers Spring Steel 4 100 | 56 | 180 | 4(8)-18 | 180 | 4(8)-18 | 190.5 4(8)-19 4 Disc U-PVC :g ii Zg Zi ]ff ‘74(‘;" 1;’;

s o o S 0 0 s ommo PRE RS RS BLoRt

- 240 - - 241.5 4(8)-22 100 | 100 | 100 | 100 | 140 | 140 | 140

. Connecting Support CF8 8 | 200 71 | 295 4(12}23 295  4(8}23 | 2985 4(8)-22 9 Stem cS 2 12 a2 a2 15 | 15 | 15

7 Packing Flexible Graphite 10 | 250 | 76 | 355 4(12)-27 350  4(12)-23 | 362 4(12)-25 70 70 70 70 | 102 | 102 | 102

8 Stem SS410 121300 83 | 410 4(12}27| 400  4(12)23 | 432 4(12)-25 e R S S
9 Body CF8M 14 1350 | 92 | 470 4(16)-27 | 460 | 4(16)-23 | 476 @ 4(12)-29 — ISO5211 FO5 | FO5 | FO5 | FO5 | FO7 | FO7

Sealing Ri SS304+Graphit 16 | 400 | 102 | 525 | 4(16)-30 | 515 | 4(16)-27 | 539.5 4(16)-29 DIN |4-@19/ 4319 8-@19 8219 8@19 |8-023 |8-223

10 ealing Ring raphite 18 | 450 114 585 4(20130| 565  4(20)-27 | 578 | 4(16)-32 ANSI | 4-@319| 4319 | 4019 |8-B19 |8-B19  8-@323 | 8-@23

1| Bolt cs 20 | 500 | 127 | 650 4(20133 620 4(20)27 635 4(20}32 18 AD AT B B BT SO0 2O
12 Disc CF8 24 | 600 | 154 | 770 | 4(20)-36| 725 | 4(20)-30 | 749.5| 4(20)-35 437 | 497 | 407 | 407 | 409 | 429

13 Pin SS304 28 | 700 | 165 | 840 | 4(24)-36 840 | 4(24)-30 | 863.6| 4(28)-35 PN | MPal 1 1 1 1 1 1 0.6

i SiccFi e 32 | 800 | 190 | 950 | 4(24)-39| 950 | 4(24)-33 977.9 4(28)41 o 150 | 150 | 150 | 150 | 150 | 150 | 90

e e e 36 900 203 1050 4(28)39 1050 4(28)-33 10858 4(32)41 . R A A

15 Bushing Nitriding 40 | 1000 216 | 1170 4(28)-42 1160 4(28)-36 1200.2 4(36)-41 TORQUE | vl 10 L 10 115 | 25 | 40 | 55 | 70

23/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./24



® ®
m TIANJIN TANGFA WATTS VALVE CO., LTD. > TANGFA m TIANJIN TANGFA WATTS VALVE CO., LTD. > TANGFA 8

CONCENTRIC GATE VALVE Through precise manufacturing, the main parts of this butterfly valve ensure valve’s operation in long stable and reliable condi

N SRREEEEEEEEEEELIILEEEEEEEEEREREE Handwheel

Handwheel with tapered square
hole,easy to install and fasten.

*********************** Stem
Body ------------ - @ Cooper stem nut. Good anticorrosion

Body surface with FEB ‘ Performance.

coated to ensure good ageing

resistance & weather resisting

property.

fffffffffffffffffffffff Seat
R - - - - - - Pt
- Embedded type seat, safety and
Compound Graphite gasket, .
integrated.

good performance and long
service life.

Water works and water

resource project
Environment protection
Public facilities

Power and public utilities
Building industry
Petroleum, chemical
Steel, metallurgy Stem is oriented by half ring
Paper making industry and double bolt&nuts

Foods, Beverage

Configurable drives

Gate valve as used as shutting-off or throtting unit for petroleum
processing, chemicals, food, medicine, textile, paper making, hydroelecuicity

engineering as well as light industry, etc. it can be installed in any selected

position.

Pneumatic actuators Electric Actuator

25/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./26



* Type:
Flange
* Face to Face:

API1609,BS5155,DIN3202,1S05752

* Flange:

DIN,BS,UNL,ISO, ANSI, AS,JIS

* Mounting Flange:
1ISO5211

» Working Pressure:
PN16(200PSI)

= Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper
and Pulp,Ship Building.

STANDARD MATERIALS OF MAIN PARTS

®
TIANJIN TANGFA WATTS VALVE CO., LTD. W

ATTS VALVE

. Non-Rising Stem Resilient Seated Gate Valve

DIMENSIONS:(mm)

TANGFA

1 Body Ductile Iron 250 |10 | 250 | 178 | 165 | 125 | 4-19 | 165 | 125 | 4-19| 155 | 120 | 419 | 150 |1205 4-19 | 178 193
2565|170 | 20 | 190 | 185 | 145 | 4-19 | 185 145 | 4-19 | 175 | 140 | 419 | 160 1395 | 4-19 | 190 193

2 | Seat EPDM 380 180 | 280 | 203 | 200 | 160 | 8-19 | 200 | 160 | 8-19 | 185 | 150 | 419 | 190 1525 | 4-19 | 203 1 ]3
3 | Shaft SS416 4100190 | 300 | 229 | 220 | 180 | 8-19 | 220 [ 180 | 8-19 | 2f0 | 175 | 849 | 230 | 905 |8-19 | 2% 193
5125|200 | 35| 5 | 250 | 20| 819 | 260 | 210 | 8-19| 250 | 210 | 823 | 2% | 216 |8-22| o5 19 |3

4 Disc Ductile Iron 6 150 [210 | 350 | 267 | 285 [240 | 8-23 [ 285 [ 240 | 8-23 | 280 | 240 | 823 | 280 | 2415(8-22| o7 1913
8 (200|230 | 400 | 202 | 340 |29 [12-23| 340 | 295 | 8-23 | 330 | 200 | 123 | 345 | 2985[8-22 | W RIE

5 Wedge Nut Brass 10| 250 [250 | 450 | 330 | 405 | 355 | 12-28 | 395 | 360 |12-23 | 400 | 355 | 12:25 | 405 | 362 |12-25| 330 2|3
6 Bonnet Gasket EPDM 12300 (270 | 500 | 36 | 460 | 4101228 | 445 | 400 1223 | 445 | 400 | 16:25 | 485 | 432 [12-25| 366 u5 | 4
- 1350 (290 | 50 | 361 | 520 | 470 | 16-28 | 505 | 460 |16-23 | 490 | M5 | 16:25 | 535 | 476 [12-29] 381 %5 | 4

7 | Bonnet Ductile Iron 161400 310 | 600 | 406 |50 | 55 | 16-31 565 | 515 1628 | 560 | 610 | 1627 | 5% | 50 [16-29| 406 B |4
8 | Sealing ring EPDM 18 [ 450 (330 | 660 | 43 | 640 | 565 | 20-31] 615 | 565 |20-28 | 620 | 565 | 2027 | 6% | 678 [16-32 4% 0 [4
20 | 50 350 | 700 | 457 | 715 | 650 | 20-34 | 670 | 620 |20-28 | 675 | 620 | 20-27 | 700 | 635 |20-32] 457 35| 4

9 Socket head screw | A2-70 24600 300 | 800 | 508 | 840 | 770 24-37 | 780 | 725 |20-31| 795 | 730 | 2433 | 815 | 7495 |20-35] 508 % |5
. 28700 430 | 900 | 610 | 910 | 840|24-37 | 895 | 440 | 24-31) 905 | 840 | 2433 | 925 | 8635|2835 610 5|5

10 | Oring EPDM 200 410 100 660 1005 90| 2441 1015 | %0 2434 100 | %0 | %% | 100| 978 | 2841 &0 | 4 |5
11 | Hand Wheel 36 | 900 | 510 1100 | 741 |1125|1050| 28-41 | 1115|1050 28-34 | 1120 | 1050 | 2833 | 1170 | 1086 |32-41] 711 4655
40 [1000 | 550 | 1200| 813 | 1255 | 1170 28-44 1230 1160 | 28-37 | 1235 | 1160 | 26:39 [1290 | 1200 |36-41 613 5 | 5

12 | Stem Nut A2-70 8 10 60| - 1485 1390 32-50 | 1455 | 1360] 32-41 1465 | 1380 | 3239 | 1510 14225 40-41 5 15

27/TIANJIN UNION VALVE CO., LTD.

. Non-Rising Stem Solid Wedge Gate Valve

®
m TIANJIN TANGFA WATTS VALVE CO., LTD.

TANGFA

WATTS VALVE

( i )
8
Eﬂ i
\
Uy &
* Type: T
Flange >/
* Face to Face: / I
API1609,BS5155,DIN3202,1S05752 M
* Flange: M ==
DIN,BS,UNI,ISO, ANSI, AS,JIS 4
* Mounting Flange: 3 ] -
1SO5211 2/7/”’
» Working Pressure: 1 )
PN16(200PSI) 1= n-
» Appliaction: L i b
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/ f
petrochemical/processing,
Power and Uilities,Paper
and Pulp,Ship Building.
STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm)
1 Body Cl 2150 150 | 250 | 178 | 165 | 125 | 4-19 | 165 125 | 4-19 | 155 | 120 | 419 | 150 1205 |4-19 | 178 19 13
; 25065 [170 | 210 | 190 | 185 | 145 | 4-19 | 185 | 145 | 4-19 | 175 | 140 | 49 | 180 1395 |4-19| 1% 19 |3
2 | Body Seat Ring Brass 380 [180 | 280 | 203 | 200|160 | 8-19 | 200 | 160 | 8-19 | g5 | 50 | 419 | 190 | 1525 |4-19 | 03 93
3 | Disc DI 4 100 [190 | 300 | 229 | 220|180 | 8-19 | 220 | 180 | 8-19 2f0 | 175 | 619 | 230 | 1905 8-19 | 229 19 |3
5 125(20| 35 | 25 [ 250 | 210 8-19 [ 250 | 210 | 8-19 | 250 | 210 | 623 | 255 | 216 |8-22 | 254 19 |3
4 | Wedge Seat Ring | Brass 6 |10 210 | 350 | 267 | 285 | 240 | 823 | 285 | 240 | 8-23 | 280 | 240 | 823 | 280 | 415/ 822 27 193
§ 12-23 2% | 8-23 I 58-22
5 Stemu Jm e e e 8
6 | Stem Ss420 121300 | 270 | 500 | 356 | 460 | 410 | 12-28 | 445 | 400 |12-23 | 445 | 400 | 1625 | 485 | 432 [12-25| 356 u5 | 4
14 [ 350 [290 | 560 | 381 | 520 | 470 | 16-28 | 505 | 460 [16-23 | 490 | 445 | 1625 | 535 | 476 [12-29] 381 %5 4
7 | Bonnet Cl 16400 310 | 600 | 406 | 580 | 525 | 16-31 565 | 515 |16-28 | 50 | 510 | 16:27 | 59 | 50 [16-29) 406 B |4
8 Wheel Cl 18 1450 [330 | 650 | 432 | 640 | 585 | 20-31 615 | 565 |20-28 | 620 | 565 | 20-27 | 635 | 578 16-32) 42 0 |4
20 | 500 350 | 700 | 457 | 745 | 650 | 20-34 670 | 620 [20-28 | 675 | 620 | 20-27 | 700 | 635 [20-32] s 354
24| 600 300 800 | 508 | 840 | 770 24-37 | 780 | 725 [20-31) 795 | 730 | 2433 | 815 | 7495(20-35] 508 % |5
28700 [ 430 900 | 610 | 910 | 840 24-37 | 895 | 840 |24-31) 905 | 840 | 2433 | 925 | 8635(28-35 610 5|5
32| 600470 1000 | 660 1025 950 | 24-41 |1015 | 950 24-34 | 1020 | 950 | 2833 [1060| 978 [ 28-41 ge0 8|5
3| 900|510 1100 | 741 | 11251050 28-41 | 1115 | 1050|28-34 | 1120 | 1080 | 2833 | 1170 | 1066 | 32-41 711 %655
4011000 | 50| 1200 | 813 | 1255 | 1170| 28-44 | 1230 1160 | 28-37 | 1235| 1160 | 26:39 [ 1200 | 1200 | 36-41 813 5 |5
4 1m0/ 630 - 1485 1390] 32-50 | 1455 | 1380 | 32-41| 1465 | 1380 | 32-39 | 1510 | 14225] 40-41 5 |5

TIANJIN UNION VALVE CO., LTD./28




®
m TIANJIN TANGFA WATTS VALVE CO., LTD. WATTJ,Q‘,'}E'%

. Rising Stem Solid Wedge Gate Valve

®
TIANJIN TANGFA WATTS VALVE CO., LTD. WATTS],'A‘L\VIZ'GFA

. Rising Stem Resilient Seated Gate Valve

* Type:
Flange
* Face to Face:
API609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:

* Type:
Flange
* Face to Face:
API609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:

1SO5211 b 1SO5211
* Working Pressure: * Working Pressure:
PN16(200PSI) PN16(200PSI)
* Appliaction: » Appliaction:
HVAC,Water Supply&Sewage, HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/ Food&Beverage,Chemical/
petrochemical/processing, petrochemical/processing,
Power and Uilities,Paper Power and Uilities,Paper
and Pulp,Ship Building. and Pulp,Ship Building.
STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm) STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm)
SIzE L [ PN16 P10 JS 0K ANSI 150 SizE L [ P16 P10 JSTOK ANSI 150
ITEM| PART NAME MATERIAL n (DN F4| F5 B3 D D n@d D Dl n@d D D n@d D D n@d L bl ITEM]| PART NAME MATERIAL n (DN F4 F5 B D | DI n@d D D n@d D D n@d D D n@d L bt
1 Body Ductile Iron 2150 |10 | 250 | 178 | 165 | 125 4-19 | 165 | 125 | 4-19| 155 | 120 | 419 | 150 [1205 4-19 | 178 RE 1 Body DI 2|50 150 | 250 | 178 | 186 | 125 | 4-19 | 165 | 125 | 4-19 155 | 120 | 419 | 150 | 1205 4-19 | 178 193
EPDM 2565 |170 | 200 | 190 | 185 | 145 | 4-19 | 185 [ 145 | 4-19 | 175 | 140 | 419 | 180 1305 | 4-19 | 190 193 EPDM 25|65 |10 | 20| 190 | 185 | 145 | 4-19 | 185 | 145 | 419 175 | 140 | 419 | 180 1385 | 4-19 | 190 1913
2 | Seat 3180 180 | 280 | 203 | 200 | 160 | 8-19 | 200 160 | 8-19 | 185 | 150 | 419 | 190 [1525 |4-19 | 203 193 2 | Seat 3 (60 180 | 280 | 203 [ 200|160 | 8-19 | 200 | 160 | 8-19 | 185 | 150 | 419 | 190 1525 |4-19 | 203 03
3 | Shaft SS420 4100 190 | 300 | 229 | 220 | 180 | 8-19 | 220 [180 | 8-19 | 2t0 | 175 | 849 | 230 | 1905|819 | 2% 193 3 | Shaft SS420 41100 (190|300 | 229 | 220 | 180 | 8-19 | 220 [ 180 | 8-19 | 210 | 175 | &9 | 230 1905/ 8-19 | 229 3
’ - 5[ 15 20 325 254 [250 [ 210 819 | 250|210 [ 819 50 [ 210 | 823 | 285 | 206 822 | 254 193 : 5125|200 | 35 | 254 | 250 | 210| 8-19 | 250 | 210 | 8-19 | 250 | 210 | 823 | 255 | 216 |8-22| 254 93
4 |Disc Ductile Iron 6 [150 (210 | 350 | 267 | 285|240 | 823 | 285 |240| 8-23 | 280 | 240 | 823 | 280 | 415[8-22| %7 193 4 | Disc DI 6 150 (210 | 350 | 267 | 285 | 240| 823 | 285 | 240 | 823 | 280 | 240 | 823 | 280 | 2415|822 %7 193
81200 (230 | 400 | 292 | 340 | 295 [12-23 | 340 |25 | 823 | 330 | 20 | 1223 | 345 | 2985|822 | 2% RIE § (200|230 | 400 | 292 | 340|295 [12-23 | 340 | 295 | 8-23 | 330 | 200 | 1223 | 345 | 285|822 | 292 RIE
5 | Wedge Nut Brass 10| 250 | 250 | 450 | 330 | 405 | 355 | 12-28 | 395 | 360 |12-23| 40 | 355 | 125 | 405 | 362 1225 3% 2|3 5 Nut Brass 10 [ 250 (250 | 450 | 330 | 405 | 35| 12-28 | 305 | 360 [12-23 | 400 | 355 | 1225 | 405 | %2 [12-25| 3% 2|3
6 Bonnet Gasket EPDM 121300 |270 | 500 | 356 | 460 | 410 | 12-28 | 445 | 400 [12-23 | 445 | 400 | 1625 | 485 | 432 [12-25| 356 u5 |4 6 Bonnet Gasket EPDM 12300 [270 | 500 | 35 | 460 | 410 | 12-28 | 445 | 400 [12-23 | 445 | 400 | 16:25 | 485 | 432 [12-25] 3% U5 | 4
- 14| 350 290 | 550 | 380 | 520 | 470 | 16-28 505 | 460 [16-23| 490 | 445 | 16:25 | 535 | 476 |12-29] 381 %5 | 4 1| 350 200 | 550 | 381 | 520 | 470 | 16-28 | 505 | 460 |16-23 | 490 | 445 | 1625 | 5% | 476 [12-29] 3% %5 | 4
7 | Bonnet Ductile Iron 16400 310 | 600 | 406 | 580 | 55 | 16-31 565 | 515 |16-28 | 560 | 510 | 1627 | 595 | 50 [16-29 406 % |4 7 | Bonnet DI 16400 310 | 60 | 406 |50 | 55 | 16-31| 565 | 515 16-28 | 560 | 510 | 16:27 | 5% | 540 [16-29] 406 B |4
8 Packing Flexible Graphite 18 [ 450 330 | 650 | 432 | 640 | 585 | 20-31| 615 | 565 |20-28 | 620 | 565 | 20-27 | 635 | 578 |16-32 432 0|4 8 Packing Flexible Graphite 181450 (330 | 650 | 432 | 640 | 585 | 20-31] 615 | 565 |20-28 | 60 | 565 | 207 | 635 | 578 |16-32] 432 04
—— 20 500|350 | 700 | 457 | 715 | 650 | 20-34 | 670 | 620 2028 | 675 | 620 | 2027 | 700 | 635 |20-32 457 35 | 4 201|500 350 | 700 | 457 | 715 | 650 | 20-34 | 670 | 620 |20-28 | 675 | 620 | 207 | 700 | 635 |20-32 457 35| 4
9 Sealing ring EPDM 24600 300 | 800 | 508 | 840 | 770 24-37 | 780 | 725 |20-31| 795 | 730 | 2433 | 815 | 7495 |20-35 508 % |5 9 Socket head screw | SS 24 600390 | 800 | 508 | &40 | 770 24-37 | 780 | 725 [20-31 795 | 730 | 2433 | 815 | 7495 |20-35 508 % |5
2700 [430| 900 | 610 | 910 | 840| 24-37 | 8%5 | g4p | 24-31 905 | 840 | 2433 | 925 | 8635/28-35] 610 25| 5 28700 |430] 900 | 610 | 910 840| 24-37 | 895 | 440 |24-31) 905 | 840 | 24-33 | 925 | 8635)28-35] 610 95| 5
10 | Socket head screw | SS 32800 (470 | 1000 | 660 | 1025 | 950 | 24-41 1015 | %0 |24-34 | 1020 | 950 | 2833 [1060| 978 |28-41 640 FRIE 10" | Hand ¥¥heel 2 32800 470 [ 1000 | 660 |1025| 950 | 24-41 1015 | %0 |24-34 1020 | %50 | 2833 1060 | 978 | 28-41 660 FRIE
11 | Yoke Ductile Iron 3 900|510 1100 711 [1125 1050 28-41 | 1115] 100 28-34 | 1120 | 1050 | 2633 [ 1170 1086 |32-41 711 165 | 5 % | 900 | 510 1100] 71 |1125|1030] 28-41 [ 1115 1050 |28-34 | 1120 | 1050 | 2633 [1170 | 1086 |32-41 711 15 5
3 40 [1000 | 550 | 1200| 813 | 1255 |1170| 28-44 1230 | 1160 | 28-37 | 1235 | 1160 | 2639 [1290| 1200 |36-41 6813 5 | 5 40 [1000 | 550 | 1200 | 813 |1255 | 1170 28-44 | 1230 1160|28-37 | 1235 | 1160 | 2639 [1290 ] 1200 | 36-41 813 50 |5
12 | Hand Wheel Ductile Iron 8 (10 60] - | - 18519903250 | 1455 | 1360 32-41) 14g5 | 1380 | 329 | 60 14225 041 - 5 |5 (10 60| - | - |18 19| 3250 | 1455 1360] 32-41| 145 1300 | 3299 | 1510 | 4225  do41 - 5 |5

29/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./3O



®
m TIANJIN TANGFA WATTS VALVE CO., LTD. WATTsm,IZIGFA

. Parallel Double Discs Gate Valve 30ch6br

* Type:
Flange
* Face to Face:
API1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNLISO, ANSI, AS,JIS
* Mounting Flange:
ISO5211
* Working Pressure:
PN16(200PSI)
» Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper
and Pulp,Ship Building.

STANDARD MATERIALS OF MAIN PARTS

8
6
O
LS
c
3
2
Y ]
DIMENSIONS:(mm)
N . Pn10
D1 n-@d
50 180 125 4-19
80 210 160 8-19
100 230 180 8-19
150 280 240 8-23
200 330 295 8-23
250 450 350 12-23
300 500 400 12-23

ITEM PART NAME MATERIAL
1 Body Cl
2 Disc Cl
3 Disc Seat Brass
4 Body Seat Brass
5 Stem CS
6 Bonnet Cl
7 | Packing Graphite
8 Gland Cl
9 Yoke Cl
10 | Hand Wheel Cl

3 1 /TIANJIN UNION VALVE CO,, LTD.

* Type:
Flange
* Face to Face:
API1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:

1ISO5211

» Working Pressure:
PN16(200PSI)

» Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper

and Pulp,Ship Building.

DIMENSIONS:(mm)

. Knife gate valve

TIANJIN TANGFA WATTS VALVE CO., LTD.

H1

TAN

WATTS VALVE

DN

SIZE

D1

D2

DO

N-Th

H1

65

48

185

145

118

180

4-M16

218

335

415

80

51

200

160

132

220

8-M16

218

360

455

100

51

220

180

156

240

8-M16

@18

400

515

125

57

250

210

184

240

8-M16

@18

455

595

150

57

285

240

212

280

8-M20

@23

510

675

200

60

340

295

266

300

12-M20

@23

585

805

250

70

405

355

319

320

12-M24

@27

695

965

300

76

460

410

370

320

12-M24

@27

765

1085

il

[

15
1
13

Iy

W AT T

GFA ‘

STANDARD MATERIALS OF MAIN PARTS

NO PART NAME MATERIAL
1 Body Ductile Iron
2 Oring NBR
3 Sealing NBR/EPDM
4 Disc 316
5 Packing PTFE
6 Gland WCB
7 Bolt 201
8 Nut/Bolt 201
9 Pin 201
10 Split pin 200
11 Yoke A3
12 Stem 2cr13
13 Yoke Head WCB
14 Stem Nut Brass
15 Bearing Zchsnsb10-6
16 Yoke head cap WCB
17 Nut 201
18 Handwheel Ductile Iron

TIANJIN UNION VA

LVE CO., LTD./32



®

TANGFA

WATTS VALVE

®
TIANJIN TANGFA WATTS VALVE CO., LTD. m TIANJIN TANGFA WATTS VALVE CO., LTD. WATTSI,QV'EW

T F WA

e CHECK VALVE

Through precise manufacture, the main parts of check butterfly valve ensure valve’s operation in a long stable and

reliable and reliable condition.

Body ™
Short body structure length

and good rigidity.

Adopting unitized design
of dual discs and two
torsion springs, it can make
disc quickly closed itself
and remove water-hammer

¢ 1. Small in size, light in weight,
compact in structure, easy in
maintenance.

2. Two torsion springs are used
excreting on each of the pair valve
plates, which close the plates quickly

and automatically.

« 3. The quick-close action prevents Rubber seat - ' Ul - - - - ) sp"ng
the medium from flowing back and It will be cured on body, tight Itis possible to install valve
eliminates water hammer effect. fit and tight seal with no on any positing of pipeline

« 4. Short body structure length and leakage. under the function of spring
good rigidity. with low cost.

* 5. This valve is tightly sealed, without
leakage under the pressure water
test.

* 6. Safe and reliable in operation, high
interference-resistance.

Gasket = @ --ceeeeeeeeeee--o0 o TTTTTTTTEEEEEE Fasten screw

It is possible to regulate
fitting clearance using
washer and ensure the
sealing of disc.

It effectively prevents rotating
shaft moving and avoid
Note: The stem of the valve should be perpendicular to the horizontal level failure of valve function and

when the valve is mounted on horizontal pipeline. For vertical installation the leakage on shaft end.

direction of flow should be downward.

33/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./34



®
TIANJIN TANGFA WATTS VALVE CO., LTD.  JANGFA m TIANJIN TANGFA WATTS VALVE CO., LTD. > TANGFA g
. Dual Plate Wafer Check Valve . Swing Check Valve
- = -
AR
@K \@
@ ©
NP
& @&
L “ees” [
* Type: * Type:
Wafer Flange

* Face to Face:
AP1609,BS5155,DIN3202,1S05752

shlandos STANDARD MATERIALS OF MAIN PARTS

* Face to Face:
API1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:

DIN,BS,UNLISO, ANSI, AS,JIS
* Mounting Flange:

1IS05211 1IS05211 1 Body CI/DI
« Working Pressure: = * Working Pressure: 2 Disc CI/DI
PN16(200PSI) — PN16(200PS]I) 3 Rocking Arm DI
» Appliaction: » Appliaction: - 9
HVAC,Water Supply&Sewage, HVAC,Water Supply&Sewage, 4 Pin CSs
Food&Beverage,Chemical/ SECTION A - A Food&Beverage,Chemical/ 5 Nut CS
petrochemical/processing, petrochemical/processing, 6 Stud CS
Power and Uilities,Paper Power and Uilities,Paper 7 Gasket Graphite
and Pulp,Ship Building. and Pulp,Ship Building. 8 Bonnet DI
9 Sealing Ring Brass
STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm) DIMENSIONS:(mm)
3 | Spring Stainless Steel 416 3 80 64 9 142 133 131 25 | 65 240 185 | 145 419 118 19 '3 185 145 4419 118 19 3
4 | Hinge Pin Stainless Steel 416 4 100 64 118 162 171 156 3 180 260 200 160 @ 8-19 132 19 '3 200 160 @ 8-19 132 19 3
5 Plug Carbon Steel R e T T 4 100 300 | 220 180 &19 156 19 3 220 180 819 156 19 3
6 Body Bearing PTFE 8 200 89 225 273 276 267 5 1 25 350 250 21 0 8'1 9 1 84 1 9 3 250 21 0 8'1 9 1 84 1 9 3
7 | Spring Bearing | PTFE 10 250 114 266 328 336 330 6 | 150 400 285 | 240 823 | 211 19 | 3 | 285 | 240 823 211 19 3
8 | Stop Pin Stainless Steel 416 ﬁ ggg ];‘7‘ gg j;gﬁjg jgg 223 8 | 200 500 340 | 295 12-23 | 266 20 3 340 295 12-23 266 20 3
9 | Eye Bolt Carbon Steel 16 400 140 M1 488/495 511 483 10 | 250 600 405 355  12-28 319 22 3 395 350 12-28 319 22 3
10 | Body Seat EPDM,NBR,Vtion,Neoprene 18 450 152 451 538/555 546 538 12 |1 300 700 460 | 410 12-28 | 370 | 245 4 445 | 400 12-28 | 370 245 4
2 500 192 506 | 502617 | 603 593 14 | 350 800 520 470 16-28 = 429 265 4 505 460 16-28 = 429 245 4
I N I - B S 16 400 900 580 525 1631 480 28 4 565 515 1631 480 245 4
32 800 241 826 916 936 917 18 | 450 1000 640 585 20-31 548 30 4 615 565  20-31 530 255 4
20 | 500 1100 715 | 650 20-34 609 315 4 | 670 620 20-34 582 | 265 | 4
24 | 600 1300 840 | 770 @ 20-37 720 36 5 780 | 725  20-37 682 30 5

35/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./36



®

TIANJIN TANGFA WATTS VALVE CO., LTD. WATTS],'A‘L\VIZIGFA r

TIANJIN TANGFA WATTS VALVE CO., LTD. wmrs&ﬁv@%

B Ball Type Check Valve B Tilting Check Valve

901
90

FLOW

* Type: * Type:
Flange Flange
* Face to Face: « Face to Face: £
API609,BS5155,DIN3202,1S05752 API609,BS5155,DIN3202,1S05752
* Flange: * Flange:
DIN,BS,UNI,ISO, ANSI, AS JIS DIN,BS,UNI,ISO, ANSI, AS JIS
« Mounting Flange: « Mounting Flange:
oy onge L ooy e STANDARD MATERIALS OF MAIN PARTS
* Working Pressure: » Working Pressure; ITEM = PART NAME  MATERIAL ITEM PART NAME | MATERIAL
PN16(200PSI) STANDARD MATERIALS OF MAIN PARTS PN16(200PSI) 1 Body DI 8 Retainer cS
« Appliaction:  Appliaction: Gland DI Bolt cs
HVAC,Water Supply&Sewage, ITEM PART NAME MATERIAL HVAC,Water Supply&Sewage, 2 an - 9 olts
Food&Beverage,Chemical/ 1 Body DI Food&Beverage,Chemical/ 3 Hydrauli cylinder 10 Stet DI
petrochemical/processing, Z Bonnet DI petrochemical/processing, 4 Yoke CS 11 Stem S8416
Power and Uilities,Paper Power and Uilities,Paper 5 Cunter weight Cl 12 Body sealing SS304
and Pulp,Ship Building. 3 Bolt CSs and Pulp,Ship Building. 6 Disc DI
4 Bolt EPDM 7 Sealing Ring EPDM
DIMENSIONS:(mm) DIMENSIONS:(mm)
- F6 PN10 PN16 SIZE [ PN16 PN10
L D D1 D2 n-ad D D1 D2 n-gd in DN D D1 n-@d D D1 n-@d
50 200 165 125 102 4-18 165 125 102 4-18 8 200 | 230 | 340 295 12-23 340 | 295 8-23
65 240 185 145 122 4-18 185 145 122 4-18 10 250 @250 405 355 12-28 395 350 12-23
80 260 200 160 138 8-18 200 160 138 8-18 12 300 | 270 460 410 12-28 445 400 12-23
100 300 220 180 158 8-18 220 180 158 8-18 14 | 350 290 520 470 1628 | 505 460 16-23
125 350 250 210 188 8-18 250 210 188 8-18 16 400 310 580 525 16-31 565 | 515 16-28
150 400 285 240 212 8-23 285 240 212 8-23 18 450 330 640 | 585 = 20-31 | 615 565 = 20-28
200 500 340 295 268 8-23 340 295 268 12-23 20 | 500 | 350 | 715 | 650 | 20-34 | 670 | 620 | 20-28
250 600 395 350 320 12-23 405 355 320 12-27 24 | 600 | 390 | 840 | 770 | 24-37 | 780 | 725 | 20-31
28 700 | 430 910 840 24-37 895 840 24-31
300 700 445 400 370 12-23 460 410 378 12-27
350 = 800 505 430 | 1623 | 520 438 | 1627 32 800 | 470 11025 950 2441 1015 950 | 24-34
460 470 36 900 510 1125 1050 28-41 | 1115 1050  28-34
400 900 565 515 482 16-27 580 525 490 16-30 40 1000 550 | 1255 1170 28-44 1230 | 1160 28-37
450 1000 = 615 565 530 20-27 640 585 550 20-30 48 1200 630 1485 1390 32-50 | 1455 1380 32-41
500 1100 670 620 585 20-27 715 650 610 20-33 56 11400 710 1685 | 1590 36-50 1675 1590 | 36-44
600 1300 780 725 685 20-30 840 770 725 20-36 64 1600 790 1930 1820 40-57 1915 1820 40-50

37/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./38



* Type:
Flange
* Face to Face:
API1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:

TIANJIN TANGFA WATTS VALVE CO., LTD.

. Dual Plate Flange Check Valve

TANGFA

* Type:
Flange
* Face to Face:
API609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:

. Silent Check Valve

®
m TIANJIN TANGFA WATTS VALVE CO., LTD. TANGFA‘

WATTS VALVE

BN A

/-¢d

Icy

X485’

STANDARD MATERIALS OF MAIN PARTS

1ISO5211 1ISO5211
» Working Pressure: ITEM PART NAME MATERIAL * Working Pressure:
FONEpBEAS) 1 STOP PIN $s304 PN16(200PSI) STANDARD MATERIALS OF MAIN PARTS
» Appliaction: » Appliaction:
HVAC,Water Supply&Sewage, 2 FINGILE PN Ss304 HVAC,Water Supply&Sewage, NO PART NAME MATERIAL
Food&Beverage,Chemical/ 3 SPRING Ss304 Food&Beverage,Chemical/
petrochemical/processing, 4 PL ATE DI petrachemicalprocessing, 1 Body Gg25
Power and Uilities,Paper 5 BODY Cl Power and Uilities,Paper 2 Guide pulley Ggg40
and Pulp,Ship Building. 6 SEAT EPDM and Pulp,Ship Building. 3 Plug Brass
7 BEARING PTFE 4 O Ring Rubber
5 Guide Sleeve Brass
DIMENSIONS:(mm) 6 Spping Stainless Steel
SIZE L PN10 PN16 7 Gasket Rubber
in DN D1 z-d D2 D D1 z-d D2 D 8 Disc Ggg40
2 50 43 125 | 4-19 99 165 125 4-19 99 | 165
25" 65 46 145 | 4-19 | 118 185 145 | 4-19 | 118 185 DIMENSIONS:(mm)
3 80 64 160 | 8-19 132 | 200 |160 8-19 | 132 | 200
4 100 64 180 | 8-19 156 220 180 | 8-19 156 220 DN | 50 65 80 100 125 150 = 200 = 250 300
5 125 70 210 8-19 | 184 | 250 | 210 8-19 184 250 L 100 120 140 170 200 230 288 354 410
6 150 76 240 8-23 | 211 | 285 | 240 8-23 | 211 | 285 D 165 185 200 220 250 285 340 405 460
8 200 89 295 8-23 | 266 | 340 | 295 | 12-23 | 266 | 340
10 250 114 350 12-23 | 319 | 395 | 355 12-28 | 319 | 405 D1 125 145 160 180 210 240 295 355 410
12 | 300 114 | 400 12-23 370 445 410 12-28 370 460 Lo R NN 188 | 212 | 268 | 320 | 378
14 350 127 460 | 16-23 | 429 | 505 | 470 | 16-28 | 429 | 520 b 20 22 24 26 30 32
16 400 140 515 | 16-28 | 480 565 | 525 | 16-31 | 480 580 f 3 ‘ 4
18 450 152 565 | 20-28 | 530 | 615 | 585 | 20-31 | 548 | 640 7.4 4-18 8-18 ‘ 8-23 ‘ 1223 ‘ 12-27
20 500 152 620 | 20-28 | 582 670 | 650 | 20-34 | 609 | 715
24 600 178 725 | 20-31 682 | 780 | 770 | 20-37 | 720 | 840
28 700 229 840 | 24-31 | 794 | 895 | 840 | 24-37 | 794 | 910
32 800 241 950 | 24-34 | 901 | 1015 950 | 24-41 | 901 | 1025
36 900 241 1050 28-34 | 1001 1115 1050 28-41 | 1001 1125
40 1000 300 1160 28-37 | 1112 1230] 1170 28-44 | 1112 1255

39/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./4O



* Type:
Flange
* Face to Face:
API1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNI,ISO, ANSI, AS,JIS
* Mounting Flange:
1ISO5211
* Working Pressure:
PN16(200PSI)
» Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper
and Pulp,Ship Building.

STANDARD MATERIALS OF MAIN PARTS

TIANJIN TANGFA WATTS VALVE CO., LTD.

B Bail vaive

WATTS VALVE

DIMENSIONS:(mm)

TANGFA

. Foot Valve

D3

TANGFA
WATTS VALVE A

®
m TIANJIN TANGFA WATTS VALVE CO., LTD.

NO PART NAME MATERIAL 15 | 20 | 25 | 32 | 40 | 50 65 | 80 100 125 150 200
1 Bonnet CI/DI ON 172" | 374" A" | 1% 1R | 2" | 25" 3" | 4" | 5" | 6" | 8"

2 Body CI/DI L [115| 120 | 125| 130|140 | 150 | 170 | 180| 190 | 325 | 350 |400
3 Ball SS H 59 | 63 | 75 | 86 | 105|115 | 135| 155|170 | 195 | 240 | 295
4 Stem Ss410 D | 95 |105| 115| 140|150 | 165 | 185 | 200|220 | 250 | 285 | 340
5 Seat PTFE D1 |65 | 75 | 85 | 100|110 | 125 | 145 | 160| 180 | 210 | 240 | 295
6 Hand lever CI/DI n-d (4-15|4-15(4-15| 4-19(4-19 (4-19 | 4-19| 8-19|8-19 |8-19 |8-23 12-23

41 /TIANJIN UNION VALVE CO., LTD.

* Type:
Flange T
* Face to Face:
AP1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNI,ISO, ANSI, AS,JIS
* Mounting Flange:
1ISO5211
* Working Pressure:
PN16(200PSlI)
» Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper
and Pulp,Ship Building.
STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm)
NO PART NAME MATERIAL DN 40 50 65 80 100 125 150 200 250 300 350
1 Body Carbon Steel D 150 | 165 | 185 | 200 | 220 | 250 K 285 | 340|405 | 460 520
2 Screen Carbon Steel D1/ 110 125 145| 160|180 | 210 240 | 295|355 | 410 470
3 Gasket Brass D2 88 | 102|122 138|158 | 188 | 212 | 268 | 320 | 378 | 438
4 Flange Plate GG25+Rubber D3 | 170 | 180 | 200 | 240 | 270 | 310 K 360 | 440 | 520 | 590 620
5 Stud Bolt Gg25 H 137 | 157 | 172 | 186|245 | 263 | 343 | 421|469 | 609 | 785
6 Lock Block Carbon Steel b 18 20 22 24 26 28
7 Lock Block Gg25 f 3 4
8 Disc Graphite zd 418 8-18 8231223 1227 16-27
9 Valve Guide Stanless Steel
10 Bolt Nut Gg25

TIANJIN UNION VALVE CO., LTD./42



®
m TIANJIN TANGFA WATTS VALVE CO., LTD. >

* Type:
Flange
* Face to Face:
AP1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNI,ISO, ANSI, AS,JIS
* Mounting Flange:
1ISO5211
» Working Pressure:
PN16(200PSlI)
» Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper
and Pulp,Ship Building.

. Y-Strainer

TANGFA

ATTS VALVE

43/TIANJIN UNION VALVE CO., LTD.

STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm)
ITEM PART NAME MATERIAL o i DIN PNI6 DIN PNI0
1 | BOLT CS L D DI n@d | D Dl n-@d
> BONNET DI 50 | 280 | 165 | 195 | 419 | 165 | 125 | 419
3 | SEATING RUBBER 60 | 200 | 18 | 145 | 419 | 18 | 145 | 419
W Se304 80 | 310 | 200 | 160 | 819 | 200 | 160 | 819
= [BODY o) 100 | 350 | 220 | 180 | 819 | 220 | 180 | 819
125 | 400 | 250 | 910 | 819 | 250 | 210 | 819
150 | 480 | 285 | 40 | 823 | 285 | 940 | 8-23
200 | 600 | 340 | 995 | 12-23 | 340 | 995 | 823
BO | 730 | 405 | 355 | 1228 | 395 | 350 | 12-23
300 | 850 | 460 | 410 | 12-28 | 445 | 400 | 12-23
350 | 980 | 520 | 470 | 1628 | 505 | 460 | 16-23
400 | oo | 580 | 525 | 1631 | 565 | 515 | 1628
450 | 1200 | 640 | 585 | 20-31 | 615 | 565 | 20-28
500 | 1w 75 | 650 | 20-34 | 670 | 620 | 20-28

®
m TIANJIN TANGFA WATTS VALVE CO., LTD. o

. Globe Valve

Type:
Flange
Face to Face:

AP1609,BS5155,DIN3202,1S05752

Flange:

DIN,BS,UNLISO, ANSI, AS,JIS

* Mounting Flange:

1ISO5211

* Working Pressure:

STANDARD MATERIALS OF MAIN PARTS

PN16(200PSI)
Appliaction:

HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper

and Pulp,Ship Building.

ITEM|  PART NAME MATERIAL MATERIAL
1 |BODY GRAY CASTIRON | ASTMA126B
2 |BODY SEATRING | BRASS ASTM B62
3 |DISC SEATRING | BRASS ASTM B62
4 |DISC DUCTILE IRON ASTM A536
5 |DISCNUT BRASS ASTM B62
6 |STEM STAINLESS STEEL | 2CR13
7 |BONNETBOLT | CARBONSTEEL | ASTMA307
8 |NUT CARBON STEEL | ASTMA307
9 | PACKING GRAPHITE
10 |GLAND DUCTILE IRON ASTM A536
11 |WHEEL DUCTILE IRON ASTM A536
12 |WASHERS CARBONSTEEL | ASTMA307
13 |WHEELBOLT CARBONSTEEL | ASTMA307

TANGFA
S VALVE A

s
| ————
11
10
9
8
7
‘W‘ﬁ 3
| L
| [ —
= O
b o
08 A
|
O
@d )
L —
DIMENSIONS:(mm)
SIZE L | PN16 PN10 JIS 10K ANS| 150 b i
in DN F4 F5 BS5%63 D DI n@d D DI n@d D DI n@d D DI nfd L
2 150 (150 | 150 | 178 | 165 | 125 419 | 165 (125 | 4419 | 155 | 120 | 419 | 150 | 1205 | 4-19 178 19 13
25165 [170 | 170 | 190 | 185 | 145 | 4-19 | 185 [ 145 | 419 | 175 | 140 | 419 | 180 [ 1395 | 4-19 190 1913
3180 (180 | 180 | 203 | 200 | 160 | 8-19 | 200 | 160 | 819 | 185 | 150 | 419 | 190 |1525 | 4-19 203 1913
41100 {190 | 190 | 229 | 220 | 180 | 819 | 220 | 180 | 819 | 210 | 175 | 819 | 230 | 1905 | 819 229 19 3
51125200 | 200 | 254 | 250 [ 210 | 819 | 250 | 210 | 819 | 250 | 210 | 823 | 295 | 216 | 82 254 19 3
61150 [210 | 210 | 267 | 285 | 240 | 823 | 285 | 240 | 823 | 280 | 240 | 823 | 280 | 2415| 822 267 19 13
1200 230 | 230 | 292 | 340 | 295 | 1223 | 340 [ 295 | 823 | 330 | 200 | 1223 | 345 | 2985 | 822 29 203
10 1250 1250 | 250 | 330 | 405 | 355 | 12-28 | 305 | 350 | 12-23 | 400 | 355 | 1225 | 405 | 362 | 12-25 330 2 |3
121300 1210 | 270 | 356 | 460 | 410 | 12-28 | 445 | 400 | 12-23 | 445 | 400 | 16-25 | 485 | 432 | 1225 3% 85| 4
141350 (290 | 290 | 381 | 520 [ 470 | 16-28 | 505 | 460 | 16-23 | 490 | 445 | 1625 | 535 | 476 | 12-29 381 265 | 4
16 1400|310 | 310 | 406 | 580 | 525 | 16-31 | 565 | 515 | 16-28 | 560 | 510 | 16-27 | 595 | 540 | 16-29 406 N |4
18 | 450 330 | 330 | 432 | 640 | 585 | 20-31 | 615 | 565 | 20-28 | 620 | 565 | 20-27 | 635 | 578 | 16-32 432 0 |4
20 | 500 350 | 350 | 457 | 715 | 650 | 20-34 | 670 | 620 | 20-28 | 675 | 620 | 20-27 | 700 | 635 | 20-32 457 315 | 4
241600 1390 | 300 | 508 | 840 | 770 | 24-37 | 780 | 725 | 2031 | 795 | 730 | 24-33 | 815 | 7495 | 20-35 508 % |5
28 1700 | 430 | 430 | 610 | 910 | 840| 24-37 | 895 | 840 | 24-31 | 905 | 840 | 24-33 | 925 | 8635 28-35 610 055
321800 470 | 470 | 660 |1025| 950 | 24-41 |1015| 950 | 24-34 |1020| 950 | 28-33 | 1060 978 | 2841 660 815
361900 | 510| 510 | 711 |1125(1050| 28-41 | 1115|1050 | 28-34 | 1120| 1050 | 28-33 1170 | 1086 | 3241 ikl 49515
40 11000 | 550 | 550 | 813 | 1255 1170| 2844 {1230 | 1160| 28-37 | 1235 | 1160 | 28-39 |1290 | 1200 | 3p-41 813 50 15
48 11200 | 630| 630 | - | 1485|1300 | 32-50 | 1455|1380 3241 | 1465 1380 | 32-39 | 1510 [14225| 40-41 - 51 |5

TIANJIN UNION VALVE CO., LTD./44



TIANJIN TANGFA WATTS VALVE CO., LTD.

TANGFA ‘

WATTS VALVE

. Single Sphere Connector With Flange

45/TIANJIN UNION VALVE CO., LTD.

[am)
=8

* Type:

* Face to Face:

AP1609,BS5155,DIN3202,1S05752 L

* Flange:

DIN,BS,UNI,ISO, ANSI, AS,JIS

* Mounting Flange:

1ISO5211

» Working Pressure:

PN16(200PSlI)

» Appliaction:

HVAC,Water Supply&Sewage,

Food&Beverage,Chemical/

petrochemical/processing,

Power and Uilities,Paper

and Pulp,Ship Building.

STANDARD MATERIALS OF MAIN PARTS DIMENSIONS:(mm)
NO PART NAME MATERIAL SIZE L Pn16 Pn10 ANSI150
in DN D D1 | n-d1 D D1 | n-d1| D D1 | n-d1
Sphere EPDM/NGR 1.25 | 32 95 | 140 | 100 | 4-18 | 140 | 100 | 4-18 | 117 | 89 | 4-16

2 Flange CS Coated With Zinc 15 | 40 | 95 | 150 | 110 | 418 | 150 | 110 | 4-18 | 127 | 98.5 | 4-16
2 50 | 105 | 165 | 125 | 4-18 | 165 | 125 | 4-18 | 152 |120.5| 4-19
25 | 65 | 115 | 185 | 145 | 4-18 | 185 | 145 | 4-18 | 178 |139.5| 4-19
58 80 | 135 | 200 | 160 | 8-18 | 200 | 160 | 8-18 | 191 152.5| 4-19
4 100 | 150 | 220 | 180 | 8-18 | 220 | 180 | 8-18 | 229 190.5| 8-19
5 125 | 165 | 250 | 210 | 8-18 | 250 | 210 | 8-18 | 254 | 216 | 8-22
6 150 | 180 | 285 | 240 | 8-23 | 285 | 240 | 8-23 | 279 |241.5| 8-22
8 200 | 210 | 340 | 295 |12-23| 340 | 295 | 8-23 | 343 |298.5| 8-22
10 | 250 | 230 | 405 | 355 |12-27| 395 | 350 [12-23| 406 | 362 |12-25
12 | 300 | 245 | 460 | 410 |12-27| 445 | 400 |12-23| 483 | 432 |12-25
14 | 350 | 255 | 520 | 470 |16-27| 505 | 460 |[16-23| 533 | 476 |12-29
16 | 400 | 255 | 580 | 525 |16-30| 565 | 515 [16-27| 597 |539.5|16-29
18 | 450 | 255 | 640 | 585 |20-30| 615 | 565 |20-27| 635 | 578 |16-35
20 | 500 | 255 | 715 | 650 |20-33| 670 | 620 |20-27| 699 | 635 |20-32
24 | 600 | 260 | 840 | 770 |20-36| 780 | 725 |20-30| 813 |749.5|20-35

®
r@ TIANJIN TANGFA WATTS VALVE CO., LTD. > TANGFA 8

* Type:
Flange
* Face to Face:
API1609,BS5155,DIN3202,1S05752
* Flange:
DIN,BS,UNL,ISO, ANSI, AS,JIS
* Mounting Flange:
1ISO5211
* Working Pressure:
PN16(200PSI)
» Appliaction:
HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,

. Double Ball Connector With Flange

= a

@D

Ve

STANDARD MATERIALS OF MAIN PARTS

Power and Uilities,Paper ITEM PART NAME MATERIAL
and Pulp,Ship Building. 1 Sphere EPDM/NBR
2 Flange CS
DIMENSIONS:(mm)
SIZE L Axial disolacement P Pn16 Pn10
in DN Stretch | Compression D D1 n-d1 D D1 | n-d1
2 50 165 30 50 45 165 | 125 | 4-18 | 165 | 125 |4-18
2.5 65 175 30 50 45 185 | 145 | 4-18 | 185 | 145 [ 4-18
3 80 | 175 35 50 45 200 | 160 | 8-18 | 200 | 160 |8-18
4 100 | 225 35 50 40 220 | 180 | 8-18 | 220 | 180 | 8-18
5 125 | 225 35 50 40 250 | 120 | 8-18 | 250 | 210 |8-18
6 150 | 225 35 50 40 285 | 240 | 8-23 | 285 | 240 | 8-23
8 200 | 325 35 50 40 340 | 295 |12-23| 340 | 295 | 8-23
10 | 250 | 325 35 60 35 405 | 355 |12-27| 395 | 350 [12-23
12 300 | 325 35 60 35 460 | 410 (12-27| 445 | 400 (12-23
14 350 | 325 35 60 40 520 | 470 |16-27| 505 | 460 |16-23
16 | 400 | 325 35 50 40 580 | 525 |16-30| 565 | 515 |16-27

TIANJIN UNION VALVE CO., LTD./46



TANGFA
TIANJIN TANGFA WATTS VALVE CO., LTD. WATTS VALVE
. Pressure Reducing Valve
13 12 1 0
15 WS
6 2 .
14 A 17
5/ SO NS — 8
%6
yuy —— 5
X —4
| 3
_ | - 2
a8 —Fe=—= =———=<-+ |
1
* Type: / /
Flange £
* Flange: -
DIN,BS,UNI,ISO, ANSI, AS,JIS \
» Working Pressure: - |
PN16(200PSI)
 Appliaction:
HVAC,Water Supply&Sewage,
» Food&Beverage,Chemical/
petrochemical/processing,
» Power and Uilities,Paper
and Pulp,Ship Building.
STANDARD MATERIALS OF MAIN PARTS
NO PART NAME MATERIAL
1 Bod
DIMENSIONS:(mm) Y cl
2 Seat Brass
SIZE PN10 PN16
3 Platen
m TN | L D wd|02|D |0 nd|D2]0D o Carbon Steel
2 |50 | 215 [125 | 4-19[ 99 160 [125 | 4-19 | 99 | 160 4 ea EPDM
25|65 | 235 | 145 | 4-19 | 118 | 180 | 145 | 4-19 | 118 | 180 5 Disc DI
31 80| 950 [160] 819132195 | 160 | 819 132 | 195 6 Diaphragm EPDM
4 1100 200 [180] 819|156 | 215 | 180 | 8-19 | 156 | 215 7 Platen Crabon Steel
5 125 | 325 [210 ] 819184 245 [ 210 | 8-19 | 184 | 245 3 Nut S ]
6 | 150 | 360 [240 | 8-23 211 | 280 | 240 | 8-23 | 211 | 280 9 Stem o |
8 | 200 | 420 |29 | 823|266 |3 | 295 | 12-23 | 266 | 3% _ Stainless Stee
10 | 250 | 510 | 350 12-23] 319 | 395 | 355 | 12-28 | 319 | 40 10 | Spring Stainless Steel
121300 | 600 | 400 | 12-23 | 370 | 445 | 410 | 12-28 | 370 | 460 11 | Eye Bolt Crabon Steel
14 | 350 | 670 460 | 16-23 | 429 | 505 | 470 | 16-28 | 429 | 520 12 | Bonnet DI
16 | 400 | 730 515 16-27[480 | 565 | 525 | 16-31 | 480 | 580 13 | Bolts Stainless Steel
18 | 450 | 730 1565 | 2028|530 | 615 | 585 | 20-31] 548 | 640 14 | Needle Valve Brass
2 1500 | 800 |620 | 20-28]582 670 | 650 | 20-34] 609 | 715 15 | Prossure Gaude
24| 600 | 970 | 725 | 20-31|682 | 780 | 770 | 20-37 | 720 | 840 9
28 | 700 | 1110|840 | 24-51 [ 794 | 895 | 840 | 24-37 | 794 | 910 16 | Pressure Gauge
321800 | 1200 [950 | 24-34 ] 901 [1015 | 950 | 24-40] 901 |1025 17 | Pilot Valve Brass
18 Ball Valve Brass

47/TIANJIN UNION VALVE CO., LTD.

* Type:

Flange

* Face to Face:

API1609,BS5155,DIN3202,1S05752

* Flange:

DIN,BS,UNL,ISO, ANSI, AS,JIS

* Mounting Flange:

1ISO5211

* Working Pressure:

PN16(200PSI)

« Appliaction:

HVAC,Water Supply&Sewage,
Food&Beverage,Chemical/
petrochemical/processing,
Power and Uilities,Paper

and Pulp,Ship Building.

. Dismantling Jiont

®
m TIANJIN TANGFA WATTS VALVE CO., LTD. TANGFA

WATTS VALVE

|

1
11

F\\
AR

nxd

(L

[

[ 1]

STANDARD MATERIALS OF MAIN PARTS

&AJ

ITEM

PART NAME

MATERIAL

1 FLANGE

Carbon Steel

SEALING RING

NBR

GLAND

Carbon Steel

PIPE

Carbon Steel

Al w|N

BOLT

Carbon Steel 8.8 GRADE Hot Zinc

DIMENSIONS:(mm)

DN PN25 Expansion
D K nxd L Capacity
250 425 370 12*30 230 120
300 485 430 16*30 250 120
500 730 660 20%36 300 125
2000 2425 2300 @ 48*70 470 +30

TIANJIN UNION VALVE CO., LTD,/48



TANGFA

WATTS VALVE

TIANJIN TANGFA WATTS VALVE CO., LTD. TIANJIN TANGFA WATTS VALVE CO., LTD.

TANGFA
WATTS VALVE ‘

. Universal Coupling(wide range) . Universal Flange Adaptor(wide range)

~ 5 /

. )

v

2y,

n
|
V772

STANDARD MATERIALS OF MAIN PARTS

Pipe Range Pressure Bolt A D H | Weight Pipe to fit
Norm Flange L No. mm mm mm kgs | DI | ST |PVC|AC| CI |GRP
Dn4o | 48-60 PN10/16 | M12X130 | 2 150 | 150 80 | 28 * | A +
DIMENSIONS(mm) Dn50 | 59-72 PN10/16 | M12X130 | 2 156 | 165 80 3.0 * A @O +
Pipe Range Bolt A H | Weight Pipe to fit Dne5 | 72-85 PN10/16 | M12X130 | 2 174 | 190 80 | 39 * A| (O] +
Norm L No. mm mm kgs | DI| ST|PVC|AC| CI [GRP) Dn80 88-103 PN10/16 M12X130 4 185 | 200 80 418 @ k| A @ O+
Dn40 48-60 M12X170 | 2 150 | 98 | 24 * | A + Dn100 | 96-116 PN10/16 | M12X130 | 4 205 | 220 80 | 50 @ K| Al@
Dn50 59-72 M12X170 | 2/4 156 98 25 *| A @O+ Dn100 | 108-120 PN10/16 M12X130 4 210 220 80 53 |@|% | A
Dn65 72-85 MI2X170 | 24 | 174 | 98 | 32 * | A| O]+ Dn100 | 105-125 | PN10/16 | M12X130 | 4 210 | 220 80 | 53 @K | A @)
Dn80 88-103 M12X180 4 185 98 40 @k A & O Dn100 | 109-128 PN10/16 M12X130 4 218 220 80 55 @ % & O+
D100 96-116 M12x180 | 4 205 | 98 | 45 @ k| A @ Dn125 | 132-146 | PN10/16 | M12X140 | 4 240 | 250 80 | 65 *x & +
‘Dn’IOO 108-120 M12X190 4 210 98 46 @ | K| A VS Dn125 | 138-153 PN10/16 M12X140 4 246 | 250 80 6.6 * | A Ol +
‘Dn100 105-125 M12X190 | 4 210 | 98 | 46 @|%| A Ol + Dn150 | 158-172 | PN10/16 | M12X140 | 4 275 | 285 80 | 75 @ Kk A
‘Dn100 109-128 Mi2X180 | 4 218 | 98 | 48 @ K A @ O + Dn150 | 155-175 | PN10/16 | M12X140 | 4 275 | 285 80 | 75 @ % A
‘Dn125 132-146 M12X180 | 4 240 | 98 | 641 x| e R Dn150 | 159-182 | PN10/16 | M12X140 | 4 280 | 285 80 | 76 @ % A € O+
Dn125 138-153 Mi2X180 | 4 246 | 98 | 62 * A @O Dn175 | 192210 | PN10/16 | M12X140 | 4 312 | 340 80 | 11.0 * | A o)
Dn150 158-172 M12X200 4 275 | 105 70 @ % A ¢ Dn200 | 192-210 PN10/16 M12X140 4 312 | 340 80 1.2 * | A O
Dn150 155-175 M12X200 4 275 | 105 70 @Kk A €O+ Dn200 | 198-225 PN10/16 M12X140 4 320 | 340 80 120 | @& A Ol +
Dn150 159-182 M12X200 | 4 280 | 10 | 72 @ |5 A | € O Dn200 | 218-235 | PN10/16 | M12X140 | 4 328 | 340 | 80 | 106 @ |k A | @ O+
Dn175 192-210 M12X210 | 4 321 | 130 | 80 >* | A Ol + Dn250 | 242-262 PN10/16 | M12X140 | 6 360 | 400 85 | 14.0 * A €O
Dn200 198-225 M12X210 | 4 320 | 130 | 95 @ |%|A ol + Dn250 | 250-267 | PN10/16 | M12X140 | 6 368 | 400 85 | 145 A ® O
Dn200 218-235 M12x220 | 4/%6 | 328 | 130 | 100 @ |k A ¢ O Dn250 | 250-274 | PN10/16 | M12x150 | 6 | 370 | 400 | 85 | 148 @ K A 4 O +
STANDARD MATERIALS OF MAIN PARTS ' Dn225 242-262 M12X220 | 6 | 360 | 130 | 12.0 * A €O Dn250 | 272-289 | PN10/16 | M12x150 | 6 | 382 | 400 | 85 | 149 @ k| A |4 O+
NO Reference Material Standard . 1 14.0 . Dn300 | 315-332 PN10/16 M12X150 6 430 | 455 85 179 @| % | A +
1 Sleeve Steel/ductile iron S235/EN1563 “E:E:E z:gzz wzizﬁ z zji 122 140 | @ % : : 8 . STANDARD MATERIALS OF MAIN PARTS Dn300 | 322-339 PN10/16 | M12X150 | 6 435 | 455 85 | 170 | @ % ¢ 0|+
2 ENCIRIg Ductile iron GGG450-10 En1563 Dn250 272-289 M12X220 | 6 382 | 130 | 140 @ | % | A|@ O+ NO Reference Material Standard Dn300 | 340-360 | PN16 -M12X170| 6 455 | 455 85 | 350 * A€ O
3 BoltAnd Nut | Steel 8.8 Dacromet/Zinced 150898-1 Dn300 315.332 M12x220 | 6 | 430 | 130 | 165 | @k A o 1 Sleeve Steel/ductile iron S235/EN1563 Dn350 | 340-360 | PN10/16 | M14X190 | 8 | 455 | 520 | 115 | 280 | |k A /O
& Cackes EPDM/NBR EN681-1 Dn300 322339 Mi2x220 | 6 | 435 | 130 | 160 @ |k |4 O 2 End Ring Ductile iron GGG450-10 En1563 Dn350 | 351378 | PN10A6 | M14x170 | 8 | 510 | 520 | 108 | 280 @ |k | A || |+
5 Coating FBE/Rilsan Nylon EN14901 Dn350 340-360 M12X220 | 6/8 | 455 | 130 | 20.0 * A @O+ 3 BoltAnd Nut | Steel 8.8 Dacromet/Zinced 1S0898-1 Dn350 | 374-391 | PN10/16 | M14x180 | 8 | 520 | 520 | 108 | 304 |@ *
Dn350 351-378 M14x230 | 8 510 | 130 | 230 @ k| A @ O 4 Gasket EPDM/NBR ENG81-1 Dn400 | 390-410 | PN10/16 | M14X150 | 8 530 | 580 | 108 | 335 * | Al@
Dn350 374-391 wiseE | @ 520 | 130 | 240 | @ * 5 Coating FBE/Rilsan Nylon EN14901 Dn400 | 398-430 | PN10/16 | M14X210 | 8 560 | 580 | 108 | 340 @ *| A | O+
D400 300-410 M14x220 | 8 530 | 130 | 250 *x A @ . Dn400 | 417-437 PN10/16 M14X180 | 8 555 | 580 108 | 350 | @ & O+
Dn400 398430 wisew | 6 560 | 140 | 260 |@ k| A @ O + Dn400 | 425-442 | PN10/16 | M14X180 | 8 560 | 580 | 108 | 341 | @ O+
Dn400 417-437 M14X240 8 555 130 | 280 | @ &0+ Dn400 | 450-463 PN16 -M14X180 | 8 585 | 580 108 | 40.0 * A € O
Dn400 R Ymem || @ 560 | 130 | 280 |@ 0 Dn450 | 455-475 | PN10/16 | M14X180 | 10 | 600 | 640 | 108 | 32.0 *| &
Dn450 1450463 M1ax270 | 8 585 | 130 | 30.0 * Al® O Dn450 | 476-500 | PN10/16 | M14X180 | 10 | 620 | 640 | 108 | 340 |@ A €O
Dn450 455-475 M14x270 | 10 600 | 130 | 32.0 * * Dn500 | 500-508 PN10/16 M14X180 | 10 620 | 715 14 | 495 * A ¢ O
Dnd50 476-500 M1ax270 | 10 | 620 | 130 | 360 | @ K |A|® O Dn500 | 500-533 | PN10/16 | M14x210 | 10 | 680 | 715 | 124 | 500 | @ |k | A +
Dn500 500-508 M16x270 | 10 | 620 | 130 | 380 * A @O+ Dn500 | 526-546 | PN10/16 | M14X180 | 10 | 663 | 715 | 114 | 490 | @ ¢ O+
Dn500 500-533 M14X280 | 10 680 | 140 | 39.0 @ K| A + Dn600 | 600-630 PN10/16 | M14X180 | 10 725 | 840 114 | 60.0 * A €O
Dn500 526-546 M1ax270 | 10 | 663 | 130 | 400 @ %k| |@|O Dn600 | 608-636 PN10/16 | M14X200 | 10 | 740 | 840 | 130 | 782 @|%|A o
Dn600 600-630 M14X270 | 10 725 | 130 | 47.0 * | Al®/O]+ Dn600 | 630-650 PN10/16 | M14X180 | 10 745 | 840 18 | 665 | @ A O
Dn600 608-636 M14x270 | 10 | 740 | 130 | 480 @ %A Dn700 | 710-739 | PN10/16 | M16x180 | 12 | 875 | 910 | 114 | 720 @ * A| |O
Dn600 630-650 M14x270 | 10 745 | 130 | 500 @ % |A ol .+ Dn800 | 816-842 PN10/16 M16X230 | 12 986 | 1025 | 128 | 120 ¢ O+
Dn700 710-739 M16x280 | 12 | 875 | 155 | 700 (@ Kk |A| |O|+
49/TIANJIN UNION VALVE CO., LTD. DN&0o 816-842 m16x330 | 12 | 986 | 180 | 800 @ k| |@|O TIANJIN UNION VALVE CO., LTD./50




® ®
m TIANJIN TANGFA WATTS VALVE CO., LTD.  JANGFA m TIANJIN TANGFA WATTS VALVE CO., LTD. > JANGFA

. Quick Flange Adaptor For PE/PVC Pipe (and DI pipe) . Flange

@D
| —
D1
e} —
n—-@d
* Nominal pressure:PN1.0MPa
PN1.6MPa
* Standard:GB/T9119-2000
Material:WWCB
For PVC Pipe For PE Pipe
Pn16 Pn10
STANDARD MATERIALS OF MAIN PARTS STANDARD MATERIALS OF MAIN PARTS
 see D | bt | md . see | D | bt md
Dn50 165 125 4X18 Dn50 165 125 4X18
1 Body Ductile iron En1563 Size Pipe OD L D Weight(kg) Dné5 185 145 8X18 Dn65 185 145 8X18
2 Sulslber EPDM/NBR ENG81-1 Dn40-50 50 50 165 17 Dn80 200 160 8X18 Dn80 200 160 8X18
Grib Ri Dn50 63 55 165 18 Dn100 220 180 8X18 Dn100 220 180 8X18
3 rip Ring | Brass CuZn36Pb3 : Dn125 250 210 8X18 Dn125 250 210 8X18
Dn60-65 63 55 185 2.4 Dn150 285 240 8X22 Dn150 285 240 8X22
Dn60-65 75 58 185 2.2 Dn200 340 295 12X26 Dn200 340 295 8X22
Dn80 90 60 200 2.8 Dn250 405 355 12X26 Dn250 395 350 12X22
Dn100 10 68 220 4.0 Dn300 460 410 16X26 Dn300 445 400 12X22
Dn350 520 470 16X26 Dn350 505 460 16X22
Dn125 125 70 250 4.2 Dn400 580 525 16X30 Dn400 465 515 16X26
— Dn125 140 75 250 4.1 Dn450 640 585 20X30 Dn450 615 565 20x26
Dn150 160 80 285 6.5 Dn500 715 650 20X30 Dn500 670 620 20X26
Dn200 200 90 340 8.5 DN600 840 770 20X36 DN600 780 725 20X30
Installation diagram

Dn200 225 93 340 8.0

Dn250 250 95 400 12.5

Dn300 315 100 455 15.0

Dn400 400 120 580 25.0

51 /TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./52



. CE Certificate

TIANJIN TANGFA WATTS VALVE CO., LTD.

o e o 2 Qv o)
s 050 6 August 2073
Corsteate onity ey 10430500

Certificate of Approval

This is to certfy that the Management Systam of:

Tianjin Union Valve Co., Ltd.

No:8-2 Tianshan Intl Tangfei Base, Chuangye Road, Xiaozhan Industrial Zone, Xiaczhan Town, Jinnan District,
Tianjin Gity 300353, China

Unifed Socisl Credi: Coe: 91120112MADSUGTGES
132 been spproved by LROA to the following Slandarcs

1S0 9001:2015
GB/T 19001-2016

Appecial numbsr(s): IS0 9001 - 0067123

The saope of this approval is applicable ta:
Dusgn and manufacium of check valves, builarly vatves, gata vaives, sirainess and rubber axpansion it for axporting

i

Rhatt Wang

rés Operations Msnsger, North Asie
Fasued by: LAGA Liriet

3

s k1 st i i R4 s i b rosnes
. espscave citcers

LA G i 0 e
o iy b

ROV LRGN

nataty

oates eieas Latoh sy
Crchumyey o e . SR, $1 ol 1 G e
Tasd by LFLSA Linbed, | Ty . S i, Birvgearm B17 TES Untid Kingiim

Fagm iy

53/TIANJIN UNION VALVE CO., LTD.

TANGFA

WATTS VALVE

. CE Certificate

LRQA

CERTIFICATE SCHEDULE
0343/PED/0038/PED/SHA/6017551/A
with the of the Pressure Equipment Directive
2014/68/EU

Tianjin Union Valve Co., Ltd.
No. 8-2, Tianshan International Tengfei Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin,
People's Republic of China

Products and location Sizes and Grades
Manufacture address:

No. 9-2, Tianshan International Tengfei Base,

Chuangye Road, Xiaozhan Industrial Zone,

Jinnan District, Tianjin, People's Republic of China

Butterfly Valves DN 40 to 1200, PN 10 and 18
Check Valves DN 40 to 800, PN 10 and 18
Gate Valves DN 40 to 800, PN 10 and 16
¥ type strainer DN40 to 300, PN 10 and 18
Note:

Temperature -20T-+110T
Mediums Water, oil, steam

Schedule Issue: 01
Date of Schedule [ssue: 9 August 2022

Notified Body No. 0343 M

Alfred Yao on behalf of LROA Nederland 8.V.

Pk b it i i e e, A 6y e 1 o
Cendmasr ik 1 03 e

LRQA

EU CERTIFICATE OF CONFORMITY

In accordance with the requirements of the Pressure Equipment Directive
2014/68/EU

This is to certify that the Quality Management System of:

Tianjin Union Valve Co., Ltd.

No. 9-2, Tianshan International Tengfei Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin,
People's Republic of China
has been assessed against the requirements of Annex Ill, Module H of the above Directive
and conforms to the requirements for the products shown below:

Design and Manufacture of Butterfly Valves, Gate Valves,
Check Valves and Strainers (see attached schedule)
Approval is subject to the continued maintenance of the gquality system in accordance with
the requirements of the above Directive for the product(s) listed on the attached schedule.

Authorisation is hereby given to use the Notified Body Identification Number in accordance
with the requirements of the specified Directive in relation to the products as identified
above.
Certificate No.: 0343/PED/0038/PED/SHA/GO17551/A
Qriginal Approval: 9 August 2013
Current Certificate: 9 August 2022
Certificate Expiry: 8 August 2025

MNotified Bady No. 0343 /;

Alfred Yao on behalf of LRGA Nederland 8.1

1 s
it

TIANJIN TANGFA WATTS VALVE CO., LTD.

TANGFA

WATTS VALVE

LRQA

EU CERTIFICATE OF QUALITY SYSTEM APPROVAL

In

q

2014/68/EU

This is to certify that the Quality Management System of:

Tianjin Union Valve Co., Ltd.
No. 9-2, Tianshan International Tengfei Base, Chuangye Road,

Xiaozhan Industrial Zone, Jinnan District, Tianjin,

People's Republic of China

Unified Social Credit Code: 91120112MADSUGTQEP

has been assessed against the requirements of Annex |, Paragraph 4.3 of the Pressure
Equipment Directive 2014/68/EU and EN 764-5: 2014, Section 4.2, and conforms to the
requirements for the products shown below:
Manufacture of D type rubber expansion joints in accordance with Annex |
paragraph 4.3 of the Pressure Equipment Directive.

(see atiached schedule)
Approval is subject to the continued maintenance of the quality system in accordance with
the requirements of the above Directive and EN 764-5; 2014, Section 4.2, and the on-going

surveillance, Products are as detailed on the attached schedule,

Certificate No.:
Original Approval:
Current Certificate:
Certificate Expiry:
Notified Body Mo.

0343/PEDM/BIGE017551/A
11 January 2018
9 August 2022

8 August 2025
0343

[

of the Pressure Equipment Directive

Alfred Yao on behalf of LROA Nederland B.V.

o s I i

TIANJIN UNION VALVE CO., LTD./54



. CE Certification

TIANJIN TANGFA WATTS VALVE CO., LTD.

LRQA

CERTIFICATE SCHEDULE
0343/PEDM/BIG6017551/A
with the requi of the Pressure Equipment Directive
2014/68/EU

Tianjin Union Valve Co., Ltd.
No. 9-2, Tianshan International Tengfei Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin,
People's Republic of China

Products: D type rubber expansion joints DN40 to 300, PN10/16.

Production line address: No. 9-2, Tianshan International Tengfei Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin, People's Republic of China

Material Grades and Standards:

[ standaros [ Grades

| HaT2289-2001 | Body: EPDM and flange: GGGS50.

Schedule Issue: 01
Date of Schedule lssue; 9 August 2022
Natified Body No. 0343

fieore

Alfred Yac on behalf of LRQA Nederland B.V,

pe—
L Sroup et

a6 A e

[ —

55/TIANJIN UNION VALVE CO., LTD.

TANGFA

WATTS VALVE

LRQA

CERTIFICATE SCHEDULE
0343/PEDM/BIG6017551/A
In accordance with the requirements of the Pressure Equipment Directive
2014/68/EU

Tianjin Union Valve Co., Ltd.
No. 9-2, Tianshan International Tengfei Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin,
People's Republic of China

Products: D type rubber expansion joints DN4D to 300, PN10/16.

Production line address: No. 8-2, Tianshan International Tengfei Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin, People's Republic of China

Material Grades and Standards:

[ standards | Grades

| HG/T2288-2001 | Body: EPDM and flange: GGGSO.

Schedule lssue: o1
Date of Schedule Issue: 9 August 2022
Notified Bady No. 0343

I

Alfred Yao on behalf of LRGA Nederland B.V.

esponslitoy e sk vt
e b . et 4 e LACLA i b - s

o v
suncdtonito

P2z

B Acs certification

Laboratolrs habilité pat s Ministbrs
chargé de la santé on application de
Farticla R1521.52 du code de la sants publique

&% eurofins

ATTESTATION DE CONFORMITE SANITAIRE
Certificate of sanitary conformity
Confomément & Tarmé(é du 28 mai 1007 modifé st 4 a circulaire du Ministére da I3 Sants
Diraction Générala d la Sanié DES/SOTA N 571 6u 25 Novemiwre 2002

{Coordonnées du demandeur d'ACS |

Contact details of the ACS owner :
TIANJIN UNION VALVE CO., LTD.
No.9-2, Tianshan International Tengfel Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin
China

Nom de I'accessolre représentatif / Reference of the representative accessory :
Robinet vanne & siége résilient - DNSD
N* de dosseer attnibué par le laboratoire habililé / File reference . 23 ACC NY 409

Date de réafisation des essais dinerlie salon la norme XP P41-280 / Tests dale (sccording fo the. standard
XP P 41-280) : Aucun essai n'est nécessaire & 'émission de cette ACS / No testing is required fo issue this

Commentaires /| Comments : Les composants métalliques sont conformes a 'amété du 25 juin 2020 1
Matallic companents are complisnt with the decree dafed 25th June 2020.

Famille d° par 'ACS / family covered by this certificate :

VANNES A OPERCULE A SIEGE RESILIENT OU A COIN SOLIDE - UNION

Références | References : (2 ariicles st leurs variantes)

Vannes & operculs & sitge résilient - DNSQ, DNSS, DNBO, DN100, DN125, DN150, DN200, D250, D300,
DN350, DN400, DN450, DNS00, DNG00, DN700, DNBOO, DNS0O0, DN100D, DN1T100 et DN1200

Vannes & opercule 4 coin salide - DN50, DNGS, DNBO, DN100, DN125, DN150, DN2Z00, DN250, DN300,
IDN350, DN400, DN450, DNS0D, DNBDO, DN700, DNBOG, DNS0O, DN100D, DN1100 ot DN1200

[Ces vannes ont un corps revatu epoxy bleu et un joint en EPDM narr {opercule ou jomt).
Thess valves have & bive epoxy-coated body and @ biack EPDM seal (id or ssal),

|Attestation délivrée par | Certificata (ssus by :

Lisa Fhrmann Signature :
|Coordinatrice de projets clients / Analytical Servico Manager

Date de délivrarics | Data of fssue : 7 saptembre 2023
Date d'expiration / Expiry date © T septembre 2028

Commentaires /| Comments :/

Euscfins Dsponita ma Coniac de Py Frame:
T BRI T L Q) I BT
£ T1ms

TIANJIN TANGFA WATTS VALVE CO., LTD.

Version 1€
Data pubication ; 08.07.202

TANGFA

WATTS VALVE

Laborataira habilih par le Ministare
chargh de I santé sn application de
Farticle R*.1321-52 du code de la santé publigue

& eurofins

ATTESTATION DE CONFORMITE SANITAIRE
Certificate of sanitary conformity
Conformémant & I'arméid du 29 mai 1937 modifie st 4 1o circutaire du Ministére da 1a Sants
Direction Géndrale de la Sanié DGSISOTA N* 571 du 25 Novembrs 2002

Coordonnées du demandeur d'ACS |
Contact defalis of the ACS owner :

TIANJIN UNION VALVE CO., LTD.
No.8-2, Tianshan International Tengfei Base, Chuangye Road,
Xiaozhan Industrial Zone, Jinnan District, Tianjin
China

! the
Clapet anti-retour & double battant - DN50
N* de dossier altribué par la laboratoire habilité / File reference : 23 ACC NY 410
Date de réalisation des 2ssais dinertie seion la riorme XP P41-280 / Tests date (according fo the standard

|XP P 41-280) . Aucun essai n'est nécessaire & lémission de cetle ACS [ No festing is raquired fo issue this
ACS

C ! Comments : Les sont conformes & larrété du 26 juin 2020/
| Metailic components are compliant with the decree dafed 25th June 2020.

Famille d'accessoires couverte par I'ACS | Accessaries’ family covered by this certificate :
CLAPETS ANTI-RETOUR A SIMPLE OU DOUBLE BATTANT - UNION

Références | References : (2 articles et leurs varlantes)
Clapets anti retour & simpla battant - DNSD, DNS, DNB0, DN100, DN125, DN150, DN200, DN250, DN300,
IDN350, DN400, DN450, DN500, DN6OO, DNT00 et DNEGO

Clapats anti retour & double battant - DN5S0, DNES, DN80, DN100, DN125, DN150, DN200, DN250, DN300,
[DN350, DN400. DN450, DNS0O, DNGDO, DNT00 et DN80O

Ces vannes ont un corps revéil epoxy biu et un clapat én inox
These valves have a blus epoxy-coated body and a stainiess stee! plug

Attestation délivrée par | Certificate issue by

Lisa Filhrmann Sigraturs
Coordinatrice de projets cients / Analyfica! Service Manager

Date de délivrance / Dato of issue | 7 septembre 2023
Date d'expleation / Expiry date © 7 seplembre 2028

Commentaires | Comments '/

Eusofen Dispostts s Conact de rEau Frarce
9 T 433{0)3 625036 17 - F-+33(0} 1832033 70
SAS s capial do 124 675 £ RCS Nanias 544 74 014 TVA FALES 344 074 014 - APE 17200

| Versin
Mdtace | T-AMFOIESO0 101 & ___ Dals aubication: 0.67.20]

TIANJIN UNION VALVE CO., LTD./56




TANGFA

WATTS VALVE

TANGFA

WATTS VALVE

TIANJIN TANGFA WATTS VALVE CO., LTD. TIANJIN TANGFA WATTS VALVE CO., LTD.

ACS Certification And BV Certification ISO 45001 And 24001

Laboratolrs habiiish par is Ministére

<% eurofins B A il e

Certificate No: 016Z822530937R0S.

ATTESTATION DE CONFORMITE SANITAIRE ! CERTIFICATE OF
cmmmA.-miﬁgmﬁm:‘mﬂ:;:'gmmmmsm ‘ OCCUPATIONAL HEALTH

Géndrala de la Sants DGS/SOTA N* 571 du 25 Novembre 2007

Goardannées d dermandeir SACST E AND SAFETY

Contact detalls of the ACS owner :

o o - Bl | MANAGEMENT SYSTEM
& ' ‘ ' CERTIFICATION

Jinnan Distriet, Thanjin
China

Date of Initial lssuancezjun. 22, 2022,‘ Date of Issuance:Jun. 29, 2023

Date of Expiration:Jun, 21, 2025

I Reference of th accessory :

iilon & - DNsO
Vanna papilion 3 ergots This is to Certify that the Occupational Health and Safety Management System of

TIANJIN UNION VALVE CO., LTD.

is in conformity with

GB/T 45001-2020 idt ISO 45001:2018 Standard, applies ta

DESIGN AND MANUFACTURE OF BUTTERFLY VALVES, CHECK VALVES AND GATE
VALVES (EXCEPT THOSE REQUIRING LICENSES)

N" de dossier atiribué per le laboratowe habiié / Fie reference | 23 ACC NY 338

Dats de réalisation des essals dinertie selon la norme XP P41-280 1 Tests date (according lo the standard
XP P 41-280] ; Aucun essai n'est ndoassaire & [émission de cetia ACS | No lesting is raquired 1 issue this
ACS.

C ires | Comments - L sont conformes & I'armitd du 25 juin 2020. /
Metallic companants are compliant with the decree dated 25th June 2020,

Famille d' par 'ACS | “ family covered by this certificate :
'VANNES PAPILLON - UNION

Références | Reforences : (4 arlcles etleurs variantes)
& ergots (LUG butterfly valves)

vanae papilion type WAFER (WAFER butterfly valves)

[Vanne papilion & bride excentrique (ECCENTRIC FLANGE butterfly valve)
Vanne papilion & bride cancentrique (CONCENTRIC FLANGE butterfly valve)

BCC Inc
President: ﬁ

Unified social credit code:911201 1 2MADSUGTQER
REGISTERED ADDRESS:3-2, TIANSHAN GUQJI TENGFEI BASE, CHUANGYE ROAD, XIAOZHAN
INDUSTRIAL, XIAOZHAN TOWM, JINNAN DISTRICT, TIANJIN, P.R.C.

OPERATION ADDRESS:9-2, TIANSHAN GUOJI TENGFEI BASE, CHUANGYE ROAD, XIADZHAN
INDUSTRIAL, XIAOZHAN TOWN, JINNAN DISTRICT, TIANJIN, PR.C

s modgies sont disponibles pour les diamétres sulvants
[DN50, DNES, DN3D, DN100, DN125, DN150, DN200, DN250, N300, DN350, DN40O, DN4SO, DNSOG,
DNBC0, DN700, DNB00, DNBOO, DN1000, DN1200, DN1300, DN1400, DN1500, DN1600, DN1700, DN1800,
DN1900, DN2000

Cor vannes ont un coms revétu en epoxy blew, un papilan en inax (ou ravéty biew pour les vannes & brides
excentrique) et une manchetts en

Attestation déliveée par | Certificate issue by

Emilie Bailly Signature
Respansabie Techniqua | Tachnical Manager

Date de déliviance [ Date of issue : 21 juilet 2023
Date d'expiration / Expiry date : 21 jullet 2028

W
MANAGIMINT SYITEM
Chas Coie

(Commentaires ! Comments - |

@ CERTIFICATE

Eurelin Cisgontifs wu Conac da fEms France.
TR0 ST P40} 8T 02370 Version 1
‘A9 1sCapial 8 244 675 & RCS Narmes B44A74 014 TVA FR 05§44 174 014 - APE 71200 Dt publication : 08.07.202

Centificate No: 0162B22E31057R0S

CERTIFICATE OF
ENVIRONMENT
| MANAGEMENT SYSTEM
Alibaba.com Verified Supplier il | CERTIFICATION

€2 Alibaba.com &

I I8 | Date of sl Issuance:Jun, 22,2022/ Date of ssuance:Jun. 29, 2023
. me | | Date of ExpirationzJun. 21, 2025
e rl I e il - | This is to Certify that the Environment Management System of
TIANJIN UNION VALVE CO., LTD.

isin canformity with

Tianiin Union Valv ’ " | GB/T24001-2016 idt 15014001:2015 Standard, applies to
lai J U 10 alve Co 1 Ltd DESIGN AND MANUFACTURE OF BUTTERFLY VALVES, CHECK VALVES AND GATE
VALVES (EXCEPT THOSE REQUIRING LICENSES)

Assessment Report Presentad to

@ Assessment Report

Report number 147461338 PaT Assessment Type | Praduction Trading Assessment I |
8CC Inc.
Report date AOTHE2T Assessor'sName  ¥aofang Ui { .
E esider 3
The validiy Periog 2023-06-28 - 2024-06:27 Reviewed by Lifwa Wi 17 A,
of Repart |
Report Verfication NS assessed-suppliers.cnn.tu | .
s I 4 Unified social credit codé:91120112MADSUGTQEP
Addrass | REGISTERED ADDRESS:9-2, TIANSHAN GUOJI TENGFEI BASE, CHUANGYE ROAD, XIAL
INDUSTRIAL, XIADZHAN TOWN, JINNAN DISTRICT, TIANIN, PR.C.

OPERATION ADDRESS:3-2, TIANSHAN GUOJI TENGFEI BASE, CHUANGYE ROAD, XIAQZHAN

Important Notes (NDUSTRIAL, KIAOZHAN TOWN, JINNAN DISTRICT, TIANAIN, BR.C.

TUV Rheinland’s Disclaimer:

This report reflects our findings for the particularly concerned company on the date of our service
anly. This report does not discharge or release the factory/seflers/suppliers fram their commerclal,
legal or contractual cbligatians with buyers in respect of products pravided by the
factory/ssitersfsupplisrs, Any reader ather than the party far wham this report has been

specifically issued is hereby informed that the general congitions of service of TUV Rheinland's i

contain liability limitation provisions.

AP
CNAS

Alibaba.com's Disclaimer: Sl cvicn

This report has been independently prepared by a third party verification agency. The report is
provided on an "AS 15" and *AS AVAILABLE” basis. The Information contained in the report may

change without notice and na obligation is assumed ta update the Infarmation after publication
Alibaba (including its affiliates) is not invalved [n the preparation of the repart. Publishing of the

report by o means means that Alibaba endorses or recommends the report, Therefare, Alibaba
cannot be held responsibie for any inaccuracy or omission in the reporl To the maximum extent
permitied by law, Alibaba expressly disclaims any warranty, expressed or implied, in regard to the

57/TIANJIN UNION VALVE CO., LTD. TIANJIN UNION VALVE CO., LTD./58



